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Exam A

QUESTION 1
Click the Exhibit button.

R1 Loopback: 192 168.1.1/32
RZ Loapback: 192 188,1.2/32

i P

R

.

152.168.120.0/24
192168, 100,024
192.168.110.0/24

In the exhibit, Area 1 is a not-so-stubby area. Three networks are redistributed into Area 1 on R2. You must summarize the redistributed network addresses in Area
1 so that only one network prefix is re-advertised into Area 0. You must also summarize the loopback addresses of R1 and R2 into a single address in Area

0.Which configuration sample on R3 and R5 will complete this task?
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T A [edit protocols ospf area 0.0.0.1]
user@router# show
n==a |
area-range 192.168.0.0/716;
area-range 192.168.1.0/30;

T B [edit protocols ospf area 0.0.0.0]
user@router# show
ns=a |
area-range 192.168.0.0/16;
area-range 192.168.1.0/30;

C & [edit protocols osph area 04 0:0431]
user@router# show
ns=a |
area-range 192.168.0.0/16;

}
area-range 192.168.1.0/30;

€ O [edit protocels ospf area 0.0.0.0]
user@router$# show
ns=sa |
area-range 192.168.0.0/16;

}
area-range 192.168.1.0/30;

Option A
Option B
Option C
Option D

Cow>

Correct Answer: C
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 2
Click the Exhibit button.
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[edit]
userithost# run show route

inet.0: 7 destinsticns, 10 routes (6 active, 0 holddowmn, 3 hiddsn)
@ = Routing Use Cnly, # = Forwarding Use Only

+ = Active Route, — = Last Actiwve, * = Both
10.10.10.0/30 *[Direct/ /0] 06:35:12

= owia ge-1/0/0.0
1d.10.10.2/32 *[Local/0] 0&:35:1F

Local wis gaulfoD.D

1d.10.56.0/30 *[Direct/0] 02:55:10

= wvia ge=1/0/1.10
i0.10.56.2/32 *[Local/ /0] 02:55:10

Local wia ge-1/0/1.0
192.168.56.1/32 #IIF-I3518] 00:00:05, metric 10
= to 10,10.56.1 wvia ge-1/0/51.0
#{RaVE/TAL] 00:00:00, metrie 10
Z to 10.10.56.1 wia ge-1/0/1.0, label-switched-path teo-ré
192.168.56.58/32 ‘[Direct/0] 0OE:06&:50
= ia 1e0.0

inet.3: 1 destinestions, 1 routes {1 active, 0 holddown, 0 hidden)
+ = Active Boute, - = Last actiwve, * = Both

132.168.56.1/32 *[REVE/ATAL] 00:00:00, metras 10
= to 10.10.56.1 wis ge-1/0/1.0, label-switched-path to-téd

Referring to the exhibit, which MPLS feature was used to make the LSP the preferred path for internal routes?
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traffic engineering bgp-igp

traffic engineering shortcuts

traffic engineering mpls-forwarding
install active

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3
Click the Exhibit button.
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In the exhibit, ISP A is charged a higher rate for traffic sent to R2. You are asked to lower costs for ISP A by configuring R1 to send traffic to R3 whenever possible.
What are two ways to do this? (Choose two.)

set protocols bgp group isp-b neighbor 192.0.2.6 local-preference 120
set protocols bgp group isp-b neighbor 192.0.2.6 local-preference 80
set protocols bgp group isp-b neighbor 192.0.2.10 local-preference 120
set protocols bgp group isp-b neighbor 192.0.2.10 local-preference 80

CSow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4
You are the administrator for a network that uses IBGP. As the network grows, you must examine options to support increased scale. Which two scaling options
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should you consider? (Choose two.)

route reflection
areas
zones
confederations

Cow>»

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 5

You manage an MPLS network where the PE devices consist of multiple vendors. You are asked to conceal the MPLS topology for all LSPs. Which global
configuration parameter will accomplish this?
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Configure no-decrement-ttl on the ingress router only.
Configure no-propagate-ttl on the ingress router only.
Configure no-decrement-ttl on all routers within the MPLS network.
Configure no-propagate-ttl on all routers within the MPLS network.

oo

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 6
Click the Exhibit button.

[edit protocols mpls]
user@router# show
lakel-=switched-path to-egress /|
to 192.168.1.1;
install 172.20.20.0/24;

}

interface all;

Based on the configuration in the exhibit, which statement is correct?

The 172.20.20.0/24 route is installed in the inet.0 table with the next hop of the LSP.
The 172.20.20.0/24 route is installed in the mpls.0 table with the next hop of the LSP.
The 172.20.20.0/24 route is installed in the inet.3 table with the next hop of the LSP.
The 172.20.20.0/24 route is installed in the inet6.3 table with the next hop of the LSP.

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
In which two ways does VPLS populate the MAC table? (Choose two.)
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dynamically using BGP

dynamically using the source MAC address on received frames
dynamically using LDP

statically using CLI

Sow>»
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Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 8
Which CoS feature supports per-VLAN queuing and scheduling?

multilevel scheduling
hierarchical scheduling
tagged queuing
per-instance queuing

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 9
Which two statements are true about OSPFv3? (Choose two.)

OSPFv3 uses a 32-bit router ID to uniquely identify a node in the network.
OSPFv3 uses a 128-bit router ID to uniquely identify a node in the network.
OSPFv3 routes are always preferred over OSPFv2 routes for all traffic.
OSPFv3 and OSPFv2 can be configured at the same time.

CSow>»

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 10
Click the Exhibit button.
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[edit]
user@host# show classz-of-service
achedulers {
volce |
transmit-rate percent 40;
pricrity strict-high;
!
critical |
transmit-rate percent E£5;
priocrity high;
1
less—critical |
transmit-rate percent 15;
pricrity medium-high;
i
data {
transmit-rate percent 10;
priority mediuwn1ow;
H
left-owver |
transmit-rate percent 5;
pricrity low;

On your MX Series router, traffic using the critical scheduler is out of profile. All other data is currently in profile. Referring to the exhibit, which statement is correct?

The critical queue is serviced before the less-critical queue.
The critical queue is serviced after the left-over queue.

The critical queue is serviced before the data queue.

The critical queue is serviced before the voice queue.

Cow>

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 11
Click the Exhibit button.
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ISP A = — Customer X

AS 65042 _ AS 65100
Customer Y - ISP D
i SEinn ""_""_ : AS 65500

All networks shown in the exhibit contain more than one BGP speaking router. You operate ISP A. You must ensure that customer Y sends their traffic to you over
the directly connected link but customer Y is not used for transit into your network. What do you do to accomplish this?
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Advertise routes to customer Y with the well-known no-transit community.
Advertise routes to customer X with the well-known no-advertise community.
Advertise routes to customer Y with the well-known no-export community.
Advertise routes to customer X with the well-known as-transit community.

o0 wp

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 12
Click the Exhibit button.
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| Alllinks are Fast Ethernet |

Ingress LSR Egress LSR

\ R1 R2 R3 R4
Site 1%%:@;@‘—'@—% Site 2

[edit protocols mpls]
uzerfrouterf show
no-cspt:
label-zwitched-path to-egress |
to 172.40.100.10;
bandwidth S5m;
adaptive:
primary path-one:
secondary path-two |
standby;
¥

As shown in the exhibit, you have an adaptive LSP that requires 85 Mbps. The LSP is configured with a primary path and a secondary path in standby mode. All
connections in the MPLS network are Fast Ethernet. Which statement is correct?

The primary and secondary paths are in an up state and operational.

The primary and secondary paths are in a down state and not operational.
The secondary path is in a down state and not operational.

The primary path is in a down state and not operational.

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 13
Your are the administrator for a network that uses IS-IS as its IGP. As the network grows, you find that the protocol's default capabilities for setting metrics is limiting
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your options. Which feature can you implement to provide a larger range of metric configuration capabilities?

A. extended metrics
B. wide metrics

C. expanded metrics
D. full metrics

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 14
Click the Exhibit button.
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1821604130
{RIPY

(ASER)

You are asked to configure an OSPF network based on the topology shown in the exhibit. You must keep the link-state database in Area 1 as small as possible.
What will accomplish this?

Area 0 should be configured as a stub area so that it will not announce routes into Area 1.

Area 1 should be configured as an NSSA to limit the size of the link-state database.

Area 1 should be configured as a stub area with no-summaries to limit the size of the link-state database.
Area 0 should be configured with a virtual link to R4 to limit the size of the Area 1 link-state database.

oo

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15
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You are provisioning a new customer for access to your Layer 3 VPN. The customer is using 172.16.35.0/24 as their internal IP address space, which is also being
used by an existing Layer 3 VPN customer. The two customers share many PE routers in common across your network. Which mechanism allows these duplicate
addresses to exist in your network?

route origin

route target

route refresh
route distinguisher

Sow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16
Click the Exhibit button.

drop-profiles |
profiles |
fill-level &0 drop-probability &0;
fill-lewvel 80 drop-probability 70;
fill-lewvel 100 drop-probability 100;

Given the drop profile in the exhibit, what is the drop probability when the buffer reaches 90% full?

60%
70%
85%
90%

CSow>»

Correct Answer: B
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 17
Click the Exhibit button.
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192.168.56.1

From: 1%2.168.56.5, L3Pstate: Up, ActiwveRoute: 0
L3Pname: EBypass-=10.10.5&.1
L3Ptype: Static Configured
Suggested label received: —, Suggested label sent: -
Recowvery labhel receiwved: -, BRecovery label sent: 299840
Resv style: 1 8E, Label in: -, Lahel out: 299840
Time left: -, B8irnece: Tue Feh 22 21:27:22 2011
Tspec: rate Obps size OUbps peask Infhps wm 20 M 1500
Fort number: sender 1 receiwver 18914 protocol O
Type: Bypass L3P

Number of data route turnel through: 0

Number of REVE session tunnel through: 0
BATH rowvirom: localcelient
Adspec: sent MTU 1500
Fath MTU: received 1500
PATH sentto: 10.10.10.9 {(ge-1/0/2.0) 2 pkts
BESV rowvirom: 10.10.10.9 (ge-1/0/2.00 Z pkts
Explet route: 10.10.10.% 10.10.10.6
Record route: <self> 10.10.10.% 10.10.10.4

Referring to the exhibit, which type of traffic protection mechanism is used for the LSP?

A. fast-reroute
B. link-protection
C. node-link-protection

http://www.gratisexam.com/



D. secondary

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18
Click the Exhibit button.

%110 1{}0% 200 200% 10 10
R2 R3

R1

R4

All routers in the exhibit are running IS-IS level 2 routing. The wide-metrics-only parameter is configured on all routers. Which metric does R1 see for the path to
R4?

A. 136
Real 13
Juniper JNO-660 Exam

B. 138
C. 310
D. 320

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 19
Which operational mode command displays the number of configured forwarding classes?
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show interfaces queue ge-1/0/0
show interfaces terse

show class-of-service interface
show forwarding classes

Cow>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20
Your multicast receivers are indirectly connected to an MX Series router. The receivers need to join multicast group 224.2.2.2. What must be configured in IGMP to
receive report messages from receivers that are multiple hops away?

By default, IGMP accepts report messages from indirectly connected receivers.
Promiscuous mode must be enabled in IGMP.

Promiscuous mode must be disabled in IGMP.

DVMRP protocol must be configured.

Cow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 21
Your OSPF network includes an NSSA. Which LSA type is injected into the NSSA by the ASBR?

Type 3
Type 5
Type 7

Type 9
Real 14
Juniper JNO-660 Exam
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Correct Answer: C
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 22
Click the Exhibit button.

userB@router# run show class-of-service rewrite-rule name traffic—class
Bewrite rule: traffic-class, Code point type: exp, Index: 58855

Forwarding class Loss priocity Code point
best-effort Low ooo
hest-sffort high ool
expedited-forwarding 1ow 111
expedited-forwarding high 011
assured-forwarding 1aw 100
assured-forwarding high 101
network-control low 110
network-control high 111

Your router should be configured with a rewrite rule which alters the default behavior of expedited- forwarding as shown in the exhibit. Which configuration is
correct?

Real 15
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Option A
Option B
Option C

Option D
Real 16
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CSow>»

Correct Answer: A
Section: (none)
Explanation

http://www.gratisexam.com/



Explanation/Reference:
Explanation:

QUESTION 23
Click the Exhibit button.

Area 49,6666 Area 40,7777

R / "3
]

o

[edit protocals isis]
useri@R3F show
e ed-hit;
level 2 disable;
interface ge-1/001.0;
interface ge-1i0/2.0,

Fa 253

Based on the exhibit, what do you expect to find in the configuration on R1 and R4?

a policy leaking level 1 routes into level 2
a policy leaking level 2 routes into level 1
a policy setting the attached bit on level 2 routes
a policy setting the attached bit on level 1 routes

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

http://www.gratisexam.com/



Explanation:

QUESTION 24
You have assigned target:65432:100 as the route target for Customer A's BGP Layer 2 VPN. The PEL router VRF is configured with vrf-target export
target:65432:100.Which configuration on PE2 correctly assigned Customer A's routes to their VRF?

Real 17
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A. vrf-target target:65432:100

B. route-target target:65432:100

C. vrf-target export target:65432:100
D. route-target export target:65432:100

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 25
Click the Exhibit button.
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% AS 65000

~—— _+—Customer Router

Ny L
Sy i
s —

You are the administrator of AS 65000. In the exhibit, there are four links between your network (AS 65000) and your upstream provider (AS 65001).
You have an export policy on all of your routers to advertise your routes such that:

Router A. MED 100, AS Path (65000), Origin 1

Router B. MED 100, AS Path (65000 65000), Origin O

Router C. MED 50, AS Path (65000 65000), Origin 1

Real 18
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Router D. MED 50, AS Path (65000), Origin 0

Through which link will traffic from the Web server enter your network (AS 65000)?

Router A
Router B
Router C
Router D

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 26
Click the Exhibit button.

i Rowe fargat FT1
Site 10 2
Latwd rarge 1

i Label bass 2000
E Labal olfsal 1

Rowte taimal RT1
Site I 3
Labat g q
Labed base 3000
Labal s 1
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In the exhibit, on which label value does PE1 expect to receive traffic from CE3 for VPN A?

2002
3001
3002
2001

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 27
Click the Exhibit button.

user@PEl> show bgp neighbor | mateh nlri
HNLREI for restart configured on peer: inet-unicast inst-vpn-unicast
NLEI advertised by peer: inet-unicast
HLRI for this session: inet—unicast
HNLRI that peer supports restart for: inet-unicast
NLEI that restart is negotiated for: inet-unicast
HLRI of receiwved end-of-rib markers: inet-unicast
NLRI of all end-of-rib markers sent: inet-unicast

user@PEZ> show bgp neighbor | mateh nlri
NLRI for restart configured on pesr: inst-unicast
NLRI advertised by peer: inest-unicast inet-vpn-unicast
NLREI for this session: inet-unicast
NLREI that peer supports restart for: inet-unicaest inet-vpn-unicast
HNLRETI that restart 1s negotiated for: inet-unicast
HNLREI of receiwved end-of-rib markers: inet-unicast
WNLET of all end-of-rib markers sent: inet-unicast

http://www.gratisexam.com/



Two PE routers in your Layer 3 VPN are not advertising customer VPN routes to each other. Referring to the output in the exhibit, which configuration parameter is
missing?

A. family inet on PE1
B. family inet on PE2
C. family inet-vpn on PE1
D. family inet-vpn on PE2

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 28
IS-IS is configured to support both IPv4 and IPv6 routing. Which statement is true?

Separate IPv4 and IPv6 hellos will be sent.

IPv6 will have a separate link-state database.

IS-1S v6 support must be enabled under protocols isis.

IS-IS sends IPv6 topology information as new TLVs in existing LSPs.

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 29
Which two statements correctly describe BGP operation? (Choose two.)

A. IBGP does not advertise routes learned from other IBGP neighbors.
B. IBGP advertises routes learned from other IBGP neighbors.

http://www.gratisexam.com/



C. EBGP advertises routes learned from other IBGP or EBGP neighbors.
D. EBGP does not advertise routes learned from other EBGP neighbors.

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 30
You have been asked to make a configuration which inherits the statements in a predefined configuration group. What will accomplish this?

A groups |
group-name {
configuration-data;

'

BE. apply-groups <apply-group-natmes:
. apply-macro <apply-macro-names;

[, event-options {
event-script |
file file-name;

H

Option A
Option B
Option C
Option D

CSow>»

Correct Answer: B
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

Real 21
Juniper JNO-660 Exam

QUESTION 31
Click the Exhibit button.

Y

| IBGP DO EBGP 4 )
. _ AS 65001

~ R1 R2 , / R3
AS 65000 /- -

The exhibit contains a BGP topology. R1 and R2 are peering using IBGP. R2 and R3 are peering with EBGP. R1 is not installing any routes from R3 due to next-
hop resolution issues. Which two configurations will resolve this issue? (Choose two.)

A. Use a policy to advertise the loopback on R2 into the IGP.

B. Advertise the R2-R3 subnet into the IGP.

C. Configure advertise-inactive on the IBGP peering session on R2.
D. Configure next-hop self on the IBGP peering session on R2.

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 32
Click the Exhibit button.
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[edit]
user@Rd4# run show 1s51is database
I3-I8 level 1 link—-state datahase:

L3P ID Sequence Checksum Lifetime Attributes
B4 .00-00 04 Oxe888 1154 L1 L2
BR3.00-00 O3 OxZeel 1150 L1 L2
R3.0Z-00 02 Ozcd 6z 1150 L1 L2

2 L3ps

I3-I8 level 2 link-state databhase:

L3F ID Sequence Checksum Lifetime Attributes
B4 .00-00 05 Oxee7d 1154 11 L2
R3.00-00 04 Oxedlf 1150 L1 LZ
R3.0Z-00 O3 D448 1151 1 L2

2 L3Ps
[edit]
user@R4H

Based on the output shown in the exhibit, which statement is correct?

A. R3is the designated intermediate system.

B. R3is the backup designated intermediate system.

C. R3 has been configured with an export policy and is announcing external routes to 1S-IS neighbors.
D. R3is using both IPv4 and IPv6 resulting in two pseudonodes.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 33
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Click the Exhibit button.

. VPLS domain

CE1 | Rf

o0

CE2 R2
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CE1, CEZ2, and CE3 are part of a single VPLS VPN. R1, R2, and R3 are PEs in the provider network, and have just been powered on. The VPLS domain has
converged, and frames have passed between all CEs in the last minute. An Ethernet frame has just arrived at R3 from CE3. It has a source MAC address of CE3
and a destination MAC address of CE1.What does R3 do with the Ethernet frame?

Drops the packet as the destination MAC address is not for R3.

Drops the packet as the destination MAC address is not in R3's MAC table.
Forwards the packet to R1 only.

Forwards the packet to R1 and R2.

CSow>»

Correct Answer: C
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 34
Click the Exhibit button.

user@routerff show
traffic-control-profiles |
L3i-unit-profile |
scheduler-map "sched-map-example; ™;
shaping-rate 30m;
guaranteed-rate Z0m;
h
h

interfaces {
ge-Uf1i1 A
output-traffic-control-profile "ll-port-profile; ";
unit 100 |
output-traffic-control-profile L3-urit-profile;

What would happen if the guaranteed-rate command is removed from the configuration shown in the exhibit?

The logical interface gets a minimal bandwidth reservation.
The minimum-rate command should be configured instead.
The logical interface receives no bandwidth constraints.
The transmit-rate command should be configured instead.

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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Explanation:
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QUESTION 35
Which statement is true about ASM and/ or SSM multicast?

A. ASM requires an external mechanism to find the source.

B. SSM only builds RPT trees, since the RP is replaced by an external mechanism.
C. ASM and SSM for IPv6 multicast use embedded RP.

D. SSM does not require MSDP.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 36
Click the Exhibit button.
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[ecit]
userd@router# show firewall
policer policerd |
Trgical—intrrface—pnliaerr:
if-exeeeding {
bandwid Uil ima L 10m;
burst-size-limit 500k;
1

then discard;

h

[ecit]
user@router# show irterfaces
qe-0/0/2
amit 0
family 1aet |
policer |
input policersa;
'
1

family 1netd |
polizer |
input policers;
'
}
'
unmit I
Camily Liel f
polizer |
input pnlicerﬁ;

'

1

H
ge-0/0/3 |
nrmit N1
family inet |
puliser
input policerd;
'
1
family ineté |

P e e e U
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Traffic is flowing through the interfaces in the exhibit as follows:

On ge-0/0/2.0, IPv4 traffic has a throughput rate of 4 Mbps, and the burst size counter is at 200 KB.
On ge-0/0/2.0, IPv6 traffic has a throughput rate of 7 Mbps, and the burst size counter is at 550 KB.
On ge-0/0/3.0, IPv4 traffic has a throughput rate of 5 Mbps, and the burst size counter is at 250 KB.
On ge-0/0/3.1, IPv6 traffic has a throughput rate of 12 Mbps, and the burst size counter is at 450 KB.

Which statement describes what is happening?

A. IPv6 traffic on ge-0/0.3.1 is being dropped; all other traffic is unaffected.

B. IPv4 traffic on ge-0/0/2.0 is unaffected; IPv6 traffic on ge-0/0/2.0 is being dropped; IPv4 traffic on ge-0/0/3.0 is unaffected; IPv6 traffic on ge-0/0/3.1 is being
dropped.

C. IPv4 traffic on ge-0/0/2.0 is being dropped; IPv6 traffic on ge-0/0/2.0 is being dropped; IPv4 traffic on ge-0/0/3.0 is unaffected; IPv6 traffic on ge-0/0/3.1 is
unaffected.

D. All IPv4 and IPv6 traffic on ge-0/0/2 and ge-0/0/3 is being dropped.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 37
Click the Exhibit button.
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userfrouter® monitor traffic detail interface so0-0/1/0 =ize 1514
Liztening on so-=0/1/0
11:55:48. 470418 In I3T8(186), 20:30:20:30:30:30 > 30:30:30:20:30:30, hlen: 2%, w: 1,
aya=id=len;: & {0}; max-—area: 3 {(0}); L2 LAP
lep-id: 15%21.c804.8001.00-00, =ec: 0x00000008, lifetime: 113 %s3
chksum: Ox86c? (correct), FDU length: 18s, L1LE IS
Area address{ss) TLY #1, length: 4
Area address (3): 49.0001
Protocols supported TLY #1229, length: Z
NLEID(=): IPwvd, IBVA
Traffic Enginsering Router ID TLYV #1234, length: 4
Traffiz Bngineering Router ID: 192.168.43.1
TPvd Interface addressies) Tov #13Z, length: &
IPvY interface addeess: 192.168.48.1
Hostrname TLV #1237, length: 8
Hostname: daoPaulo
IPvd Internal reachahility TLV #1Z8, lencth: 24
IFv% prefix: 192.168.48.173Z
Default Metrris: 00, Internal, Distribution: up
IPvw4 prefix: 10.222.60.0/24
Default Matric: 10, Internal, Distribution: up
Extended TEPvd4 reachability TLYV #1353, length: 17
Ibwvd prefisx: 192.168.48.1/32
Metrig: 0, Distribution: wup, nao sub-TLV= present
IPvd prefix: 10.ZZ2Z.60.0/24
Metric: 10, Distribution: up, no sub-TLV=s present
IPvi External reachabilicy TLv #130, length: 1Z
IPvd prefix: 152,163,432 . 0/24
pefault Metric: 00, Internal, Distribution: up
Extended IPwd reachahility TLV #1335, length: B
Ievd prefix: 192,168.4%.0/24
Metric: 0, Distribution: up, ne sub-TLVs pressnt
I8 Reachability TLV #2, length: 12
IsWot¥irtual
IPvd prefix 192.168.49,0/24
Default Metric: 00, Internal, Distributiom: up
Extended IPvd reachebilaity TLYV #135, length: B
IPwvd prefix: 192.168.459.0/24
Metric: 0, Diatributicn: up, no sub-TLVsE present
I8 Reachability TLV #2, length: 12
IsHotVirtual
I3 Meighbor: 1921.g205.2001.00, Default Metric: 10, Intsrnal
fgxtended I3 Reachahility TLY #EE, length: Z3
I8 Neighbor: 19E1,6805,2001.00, Metrie: 10, sub-TLV=s present (LE)
IPwd interface sddress: 10.ZEZ.60.Z2
IFP+4 neighbor address: 10.2ZE.80.1
Authentication TLVY #10, length: 17
FMAC-MDS password: O0bb3IZEdT7iZboeacl0ZellesZid3oT™d



The output in the exhibit was captured on an interface. Which three statements are true about the configuration on the router with hostname SaoPaulo? (Choose
three.)

Wide metrics is not in use.

The router has the overload bit set to "on".
Authentication is enabled.

System ID is 1921.6805.2001.

Level 2 routing is enabled.

moowp»

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 38
Click the Exhibit button.
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AREA 1 AREA O
r _""1 L .y
fpa- 14110 %
R2 B3
R1
R4 RS
G104 0
o W /
2 Condiguration a4 Configuration
protocols { protocals {
ospf | aspl {
area 0.0.0.7 { arod 0,001

slub dafaull-matric 5 mo-summarias;
irterace ges1000.0;

H
area 0.6.00{
inferface ge-10001.0;
H
¥

i

slub default-metric 10
Interface ge-100.0;

Lrea 0.0040{
interace ge- 1001 0;
I
¥
}

R2 and R4 advertise a default route into Area 1.Based on the configurations in the exhibit, which statement is true? (Choose two.)

Traffic from R1 to internal OSPF destinations in Area 0 will always transit R4.
Traffic from R1 to internal OSPF destinations in Area 0 will always transit R2.
Traffic from R1 to external OSPF destinations in Area 0 will always transit R2.
Traffic from R1 to external OSPF destinations in Area 0 will always transit R4.

CSow>»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 39
Click the Exhibit button.
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Customar & Customar A

Customar B

Customer A Custarner B

Referring to the exhibit, you want to save CPU processing load on the PE3 router by preventing the reception of routes belonging to Customer B. Which Layer 3
VPN scaling mechanism provides this functionality?

route origin

route refresh

route reflection
route target filtering

CSow>»

Correct Answer: D
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 40

Router R5 has the overload parameter configured. Which statement is true?

Sow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 41

Real 30
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What is a limitation of LDP?

Traffic must follow explicitly configured paths.

It requires a traffic engineering database (TED).
It does not support traffic engineering.

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 42
Click the Exhibit button.

It requires a full mesh of LSPs throughout the network.

R5 will purge its LSAs from the network until the overload condition is cleared.
R5 will increase its link metrics to 65535 and will stop forwarding transit traffic to OSPF destinations.

R5 will increase its link metrics to 65535 and will continue to forward transit traffic to OSPF destinations.
R5 will send an overload LSA to its neighbors to indicate it is in the overload state.
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sl .4 i

ISP A

%

AS 6551 --_'I-_-I‘-----_-r--- \,_ﬁ.
. ISPB \
2 AS 65502 |
<='.
E"l 1 SP C ..\" \ ey s -
\ AS65503 |

You work for ISP A. Customers of both ISP B and ISP C must be able to reach all of your customers, but your network must not allow transit traffic between ISP B
and ISP C.

Referring to the exhibit, which two methods could you use? (Choose two.)

Use local preference to prefer the proper routes.
Use the well-known no-transit community.
Use policy to filter routes on AS number.

Use communities to identify and filter routes.
Real 31
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CSow>»

Correct Answer: CD
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 43
Click the Exhibit button.

AREA 2

192.15311_1[10.0."24

In the exhibit, Area 1 and Area 2 are configured as not-so-stubby areas. RIP network 192.168.100.0/24 is redistributed into OSPF in Area 1.Which three statements
are true? (Choose three.)

Network 192.168.100.0/24 is advertised in a Type 7 LSA in Area 1.

Network 192.168.100.0/24 is advertised in a Type 7 LSA in Area 0.

Network 192.168.100.0/24 is advertised in a Type 5 LSA in Area 0.

The area border router between Area 0 and Area 2 converts network 192.168.100.0/24 to a Type 7 LSA.
Area 2 does not see the network 192.168.100.0/24 in its link-state database.

moow»

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 44
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Click the Exhibit button.
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~ g
Customer A § ¥ Customer A
OSPF Area D | OSPF Araa 0
! e, =
1 { PEZ ", [
o D~ cE2
— | & i 1
t.r‘ F.
".h‘ ' A
L™ 1 7
".\h: {J_‘__.,_.- i
=4 o <

Referring to the exhibit, your network management systems have alerted you to a loss of connectivity to the CE2 router in your Layer 3 VPN. The loopback address
of the CE router is 10.10.1.1/32.Which operational command on PE2 verifies connectivity across the PE-CE link?

ping 10.10.1.1

ping 10.10.1.1 table customer-a

ping 10.10.1.1 instance customer-a

ping 10.10.1.1 routing-instance customer-a

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 45
Click the Exhibit button.
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customer—vpr
instance-type wvrf;
interface ge-0,/0/0.0;
route-distinguisher 172.16.1.1:1;
vef-target target:&5000:100;

You are configuring a new PE router in your Layer 3 VPN. A remote PE router is using the configuration shown in the exhibit. Which configuration is needed to
receive customer-vpn routes from the remote PE?

Real 33
Juniper JNO-660 Exam

http://www.gratisexam.com/



© A customer-vpn |

}

instance-type vrf;
interface ge-0/0/1.0;
route-distinguisher 172.
vrf-target {
export target:&65000:
import target:a5000:

E. cusztomer-vpn |

}

instance-type vri;
interface ge-0/0/1.0;
route-digstinguisher 172.
vrf-target {
export target:&5000;
import target:a5000:

L. customer-vpn |

}

instance-type wvri;
interface ge-0/0/1.0;
route-distinguisher 172.
vrf-target target:s55000:

0. customer-vpn |

instance-type vri;
interface ge-0/0/1.0;
route-digstinguisher 172.
vrf-target target:&5000:

e, 1. 220

100;
200;

1 el o

200;
200;

LE s, e
100;

16.1.2:1;
200;
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Option A
Option B
Option C
Option D

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 46
Click the Exhibit button.

[edit]
root@R4# run show i1sis database
I3-I8 lewvel 1 link-state datahase:

L8P ID Sequence Checksum Lifetime

E4.00-00 02 Oz fhe 1072

R3.00-00 022 Ox£f316 1192

R3.0Z-00 02 Oxczlie 1192
3 LaPs

I3-I8 level Z link-state database:

L8P ID Sequence Checksuwm Lifetime

B4 .00-00 02 Oxdbaa 1073
1 L2P=

Based on the output in the exhibit, which statement is correct?

Attributes

Ll 1LZ

Ll LZ Owerload
Ll L2

Attribhutes
L1 LZ

A. R4 has been configured with an IS-IS export policy and is announcing external routing information.

B. R3 and R4 have an adjacency at both level 1 and level 2.
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C. R3 has been configured so that it is not used for transit traffic.
D. R3 and R4 are hoth attached to other IS-IS areas.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 47
Which two statements describe advantages of using BGP for VPLS signaling instead of LDP signaling? (Choose two.)

There is no need for MPLS signaling protocol.

There is a well-defined scaling hierarchy.

There is a separation of signaling from other services.
There is auto discovery.

Cow>»

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 48
Click the Exhibit button.
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Layer 2 VPN
sigrialirg

A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is activated on P1 and P2. Referring to the exhibit, which statement is true about
the LDP Layer 2 circuit?

MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN A or VPN B.
Targeted LDP sessions are established between PE1, P1 and P2, PE2.

Label stitching must be configured on P1 and P2 for end to end transport LSPs.

LDP must be enabled on the loopback interfaces of PE1 and PE2.

CSow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 49
Click the Exhibit button.
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usetr@PE2> show l2cireult conmnections
LayerHE Circuit Connections:

Legend for connsction status (8t)

EI ~-- encapsulation inwvalid NP -- interface h/w not present
MR -- mtu mismatch Dn -- down

EM -- enc&psulatinn mismateh Ve-Dn -~ Virtual eireuit Down
&M —— control-word mismatch Up -- operational

VM -= wlan id mimnateh CF == Call admissien control failure
oL -- no outgoing label IE -- TDM incompatible bitrate
NZ -~ intf encaps not CCC/TOC TM -~ TDM misconfiguration

E¥ -- Bachup Connection g7 -- Ztarndby Connection

CB —-- revd cell-bundle size bad 3P -- Static Pgeudowire

LD == local site signaled down B3 == remote =site standby

ED -- remote szite signaled down XX -- unknown

Legernd for interface status

Up -- operational

Dn == down

Neighbor:; 1%92.163.7.1
Intecface Typs St Tims last up # Up trans
ge-1/0/0, 600 (ve 3) rmt EM

user@PEL> show ldp database ssssion 122.168.7.1
Input label databass, 192.168.5.1:0--152.168.7.1:0

Labhel Prefix
2097492 102.168.5.1./32
299776 192.168.6.1/32
3 192,168, 1.1732
299824 LECET CtrlWard ETHERNET WV 5

Cutput label database, 122.168.5.1:0--1%2.163.7.1:0

Label Prefix
3 192.168.5.1/328
233776 1%2.168.6,1/32
2997892 192.1eB.7.1/38
292808 LECET CtrlWord VLAN VT 5
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Customer A is complaining that CE1 and CE2 cannot form an OSPF adjacency across your LDP Layer 2 circuit. The physical topology of the network is CE1-PE1-
P-PE2-CE2. PE1's loopback is 192.168.5.1, P's loopback is 192.168.6.1, and PE2's loopback is 192.168.7.1.

Referring to the output in the exhibit, what is the problem?

mismatched virtual circuit ID values
mismatched interface encapsulations
incorrect PE-CE interface configuration
extended LDP neighbor not established

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 50
Click the Exhibit button.
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192.168.56.1
From: 1%2.168.56.5, L&8Pstate: Up, ActiveRoute: 0
LdPrname: to-ré, L3Ppath: Primary
LaPtype: Static Configured
Suggested lahel received: -, Suggested label =ent: -

RBecovery lahel receiwed: -, Recovery labhel sent: 3
Reswv style: 1 FF, Label in: -, Lakel out: 3
Time left: -, Since: Tue Feb 22 21:38:36 2011

Tspec: rate Obpz size Obps peak Infbhps m Z0 M 1500
Fort number: sender 1 receiver 189168 protocol 0O
FastReroute desired
PATH revirom: localclient
Adspec: sent MTU 1500
Path MTU: receiwved 1500
PATH sentto: 10.10.56.1 ({(ge-1/0/1.0} 7 pkts
RE3V revirom: 10.10.56.1 {ge-1/0/1.0) 5 pkts
Explet route: 10.10.56.1
Record route: <self> 10.10.56.1
Detour 1z Up
Detour Tsapec: rate Obps zize Obps peak Infbhps m 20 M 1500
Detour adspec: sent MTU 1500
Path MTU: receiwved 1500
Detour PATH sentto: 10.10.10.9 {(ge-1/0/2.0}) 4 pkt=s
Detour RESY revfrom: 10.10.10.9%9 {(ge-1/0/Z.0) 3 pkts
Detour EBxplet route: 10.10.10.9 10.10.10.6
Detour Record route: <selfx 10.10.10.% 10.10.10.6
Detour Labhel out: Z93856

Referring to the exhibit, which type of traffic protection mechanism is used for the LSP?

link-protection
fast-reroute
node-link-protection
bypass

CSow>»

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 51
Click the Exhibit button.
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/ ISP A
. AS 65501

ISPB
AS 65502 |

[edit protocols bgp]
yserfiRl#4 show
group isp-b |
type external;
pesr—-as. G5502; e
neigobor OS2 0.2 6 B, © &
neighbor 182.0.2.10; i

You work for ISP A, as shown in the exhibit, and must configure R1 to use load balancing across both available links to ISP B's network. Which command do you
use to finish the configuration?

A. set protocols bgp group isp-b multipath
B. set routing-options forwarding-table export per-packet
C. set protocols bgp group isp-b multihop
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D. set routing-options forwarding-table load-balance

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 52
Click the Exhibit button.
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user@R3# run show bgp neighbor

Peer: 192.168.36.1+1792 A3 65000 Lozgal:
Type: Internal Btate: Established
Last State: OpenConfirnm Last Event:

Last Error:
Options:
Local Addreas:
Number of flaps: 1

Last flap ewvent: RecwNotify

COpen Message Error

Error: 'Open Message Error' Sent: 2 Recwv: O
Brror: *Cease” Sent: 0 Reowv: 1
Beer ID: 19Z.1488.56.1 Local ID: 192.168.56.5 Active Holdtime: 50
Feepalive Interval: 30 Peer index: O
BFD: disabled, down
HLRI for restart configured on peer: inst-unicast
HLBEI advertised by peer: lnet-unicast ineté-urdcast
HLEI for this session: inet-unicast
Peer supports Refresh capability (2)
Restart time configured on the peer: 120
Stale routes from peer are kept fer: 300
RBestart time requested by this pser: 120
NLRI that peer supports restart for: inst-unicast insté-unicast
NLRI that restart is negotiated for: inst-unicast
HLREI of received end-of-rib markers: inst-unicast
HLRT of all end-of-rib markers sent: inst-unicast
Peser supports 4 hyte AS extension (peer-as &5000)
Peer doss not support Addpath
Table inet.0 Bit: 10000
RIE State: BGP restart is complets
Hend state: in syne
Active prefixes: a
Received prefixes: a
Accepted prefixes: a
Suppressed due to damping: a
Advertised prefixes: 0
Last traffic {(seconds): Received 4 Sent 4 Checked 4
Input messages: Total 3 Updates 1 Refreshes 0 Octets 101
Cutput messages: Total 7 Updates O RBefreshes 0 Octets 284

Cutput Queue[0]: O

192.168.56,.9+36710 Ag 65000
Flags: <=8ync>
RecsvEeespalive

<Preference Localiddress Refresh>
192.168.56.5 Holdtime:

S0 Preterence: 170
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The exhibit shows the output of a Junos show bgp neighbor command. Which two statements are true? (Choose two.)

IPv4 routes will be exchanged over this session.
IPv6 routes will be exchanged over this session.
The local router initiated the BGP session.

BFD keepalive is configured to 30 seconds.

CSow>»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 53
Click the Exhibit button.
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-~

Referring to the OSPF link metrics in the exhibit, which path will traffic from R6 take to reach R1?

R6, R3, R2, R4, R1
R6, R3, R2, R1

R6, R5, R4, R1

R6, R5, R3, R2, R4, R1

Sow>»
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 54
Click the Exhibit button.

—— Raocaivor

Hml\'ﬂ' —— |- S

A customer is using the Layer 3 VPN multicast technology shown in the exhibit. Which statement is true?

Real 41
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PE6 sends a BGP NG-MVPN NLRI Type 5 message upon receiving a *,G join on its VRF interface.
PE6 sends a BGP NG-MVPN NLRI Type 7 message upon receiving an S,G join on its VRF interface.
The P2MP sub LSP reduces the traffic load on the interface between PE2 and PE5.

PES6 signals PE2 through MBGP to include the I-PMSI tree on its P2MP sub LSP.

o0

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 55
Click the Exhibit button.

AS 65420
Loopback |Ps

R1 = 2001:DBB:FAC1::
R2 = 2001:DB8:FAC1::
R3 = 2001:DB8:FACT:;
R4 = 2001:DB8:FAC1::
R5 = 2001:DB8:FAC::

ERGRZ

R5 R4

In the exhibit, R1 is a route reflector and R2 through R5 are clients in a full mesh configuration. R2 should only receive one copy of all routes sent from R5.Which
configuration is valid?
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A

[edit protocols bgpl

root@R1# show

group AZ65420
tvpe internal;

local—-address 2001: dk8: facl:

cluster 10.1.1.1;

neighkbor 2001:db8: facl: :a2;
neighbor 2001:dkR8:facl: 1a3;
neighbor 2001:dk8: facl: rad;
neighbor 2001:dk8: facl: :ab;

[edit protocols bgpl

root@R5# show

group AZE5420 |
type lnternal;

local-address 2001:dk3: facl:

no-—client-reflect;

neighbor 2001:dk8: facl:1al;
neighbor 2001:dk8: facl: :a2;
neighkbor 2001:db8: facl: 1 a3;
neighbor 2001:dk8:facl::ad;

[edit protocols bgpl
root@R1# show
group AZe5H420 |

type internal;

local-—address 2001:dk8: facl:

clugster 10.1.1.1;
no-client-reflect;
neighkbor Z2001:db8: facl: :a2;
neighbor 2001:dkR8:facl: 1a3;
nelghbor Z001: db8: facl: :a4;

[edit protocols bgpl
root BR5# show

AT O

:ah;

Sl

v.gratisexam.com/



A. Option A
Option B

C. Option C
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D. Option D

w

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 56
In an interdomain multicast deployment scenario, an RP1 is in AS1 and an RP2 is in AS2. MSDP is configured between RP1 and RP2.In which routing table on RP1
are source-active messages (SAs) received from RP2 by default?

A. inet.0
B. inet.2
C. inet.l
D. inet.4

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 57
Click the Exhibit button.
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N\ R4 RS

o

AS 65432 AS 65221

L. E B N B B B N B J

R3 and R4 want to establish an EBGP session between each other's loopback addresses. They have each configured static routes to the other's loopback address
and can ping from loopback to loopback. Their EBGP session is configured with correct neighbor and local addresses. The

Real 44
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correct AS numbers have been specified at the [routing-options] hierarchy as well. Considering the topology in the exhibit, which statement is true?

BGP's protocol preference must be adjusted to be lower than protocol static for the session to establish.
Each side must configure multipath for the session to establish.

Each peer must specify a local-as within their EBGP configuration for the session to establish.

Each peer must configure multihop for the session to establish.

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 58
Click the Exhibit button.

Level 2
1020016

Level 1

R4 R5

R2 is announcing the 10.200/16 network to its IS-1S neighbors. No routing policies have been applied to R3. Referring to the exhibit, will R5 have 10.200/16 as an
IS-IS route?

A. Yes; IS-IS level 2 externals are passed from level 2 to level 1 by default.
Real 45
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B. No; IS-IS level 2 externals are only passed to level 1 if wide-metrics-only is configured on all routers.
Yes; all level 2 routing information is shared throughout an I1S-IS domain by default.
D. No; IS-IS does not announce routes from level 2 to level 1 unless a routing policy is applied.

O

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 59
You are facing BGP scaling issues and decide to add dedicated route reflectors to your network. You notice that VPN routes are not being advertised by your route
reflectors. Which three actions can you take to solve this? (Choose three.)

Add a static default route to inet.3 and/or inet6.3 on the route reflectors.

Add a full mesh of MPLS LSPs between all of the route reflectors.

Add MPLS LSPs between the route reflectors and their client routers.

Add a static default route to inet.3 and/or inet6.3 on all of the client routers.

Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on the route reflectors.

moowp»

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 60
What is the purpose of the no-cspf command?

to successfully signal the LSP across the network regardless of constraints

to delete the CSPF database

to ignore OSPF when calculating the ERO

to successfully signal the LSP only if the default IGP path (or named path) meets all constraints

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 61
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An OSPF network has been designed with multiple areas to improve scalability. Which two statements are true? (Choose two.)

A. Each router in the OSPF network runs the shortest-path-first algorithm to determine paths Real 46
Juniper JNO-660 Exam
through the network.

B. The Area Border Router for each area runs the shortest-path-first algorithm and floods its results through the area.
C. Each area must have at least one link connecting it to each of the other areas of the OSPF network.
D. OSPF provides loop-free routing within an OSPF routing domain, but does not guarantee symmetrical routing.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 62
Click the Exhibit button.
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user®@PEZ> show route adwvertising-protocol bgp 192.168.3.1

customer-vpn.inet.0: 5 destinations, 5 routes {5 asctive, 0 holddown, O hidden)

Erefix MNexthop HED Lolpret A8 path
¥ 172.16.2.0/24 delf i0o I
* 178.16.20.0/30 delf 100 63001 T
* 172.16.20.4/30 gelf 100 03001 T
* 17EL16.20.8/30 delf 100 a5001 T

user@PEl> show route advertising-protocol bgp 17Z.16.1.2

user@PELl> show route receive-protocol bogp 192.168.4.1

inet.0: & destinations, & routes (& active, 0 holddown, 0 hidden}
sustomer-vpn. inet.0: & destinations, & routes (2 active, 0 holddown, 4 hidden)
izo.0: 1 destinations, 1 routes (1 active, 0 holddown, 0 hidden)

mpls.0: 32 destinatiens, 3 roukes (3 astive, 0 heolddewm, 0 hidden}

bgp.1l3vpn.0: 4 destinations, 4 routes (0 active, 0 holddown, 4 hidden)

Customer A is complaining that routes advertised from the CE2 router are not being received on the CE1 router. The physical topology of the network is CE1-PE1-
PE2-CE2. The CE1-PE1 subnetis 172.16.1.0/24. The CE2-PE2 subnet is 172.16.2.0/24. PE1's loopback is 192.168.3.1 and PE2's loopback is
192.168.4.1.Referring to the output in the exhibit, what is the problem?

No LSP exists between PE1 and PE2.
Route targets are not properly configured.
as-override is not configured in the VRFs.
family inet-vpn is not configured on the PEs.

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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Explanation:
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QUESTION 63
Click the Exhibit button.

R2

Ri
Source: 192,168,1,1 —th 10 10 JL e
Groug: 224 28412 «Ir Q-Ir
100
10

10

100 . 10

Baciborhs o JL> JL Hanmer‘ﬂ-:

192 168.2.1 r‘ 10 0 d-ar 1021683 1
R

R

In the exhibit, what happens if the source starts sending multicast traffic toward R1 and there are receivers registered at the RP?

R1 encapsulates the multicast packets into a PIM register multicast packet.
R1 encapsulates the multicast packets into PIM join unicast messages.

R1 forwards the multicast packets on the S,G tree towards the RP.

R1 tunnels the multicast packets in PIM register messages toward the RP.

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 64
Click the Exhibit button.
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= == g Pathl
— = e Path 2
= e PTH 3

Path 4

Ingress LSR

/Egress L5R

N etworl: details
= All links are Fast Ethernet
*|GP metric for all paths are
the same
Pereentages reflect total
bandwidth resened

You have an MPLS network and you have configured most-fill as a CSPF tiebreaker. Using the information in the exhibit, which path will be used to signal a new
LSP requiring 12 Mbps?

Path 1
Path 2
Path 3
Path 4

CSow>»

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 65
Which two configuration parameters are required to configure a BGP-signaled VPLS service? (Choose two.)

vpls-id
site-identifier
route-distinguisher
site-address

Sow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 66
Click the Exhibit button.

user@router$# show routing-options multicast
scope 1

prefix 224.0.1.358/32;

interface fe-0/0/0.0;

Referring to the exhibit, which statement is correct?

A. Only multicasts packets (224.0.1.39) are allowed on the input and output direction.
B. Auto-RP discovery messages are filtered in the input and output direction.
C. Rendezvous point announcements are filtered in the output direction.
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D. This filter does not work because the input or output parameter is missing.
Correct Answer: C

Section: (none)

Explanation

Explanation/Reference:

Explanation:
QUESTION 67
Click the Exhibit button.
172,16.0.0/16
ff %X - 3

49.0002
o Y | —

N
L2 L2 %RE
LML -
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The IGP is IS-1S. Routes from R1 need to be present on R6. Referring to the exhibit, what will accomplish this task?

Create an L1 adjacency between R2 and R3 to allow the routes to pass through to R6.

Use policy on R3 to leak R1's routes from L2 to L1.

Change the area address from 49.0003 to 49.0001 on R6 to allow R6 to accept routes from R1.
Use policy on R2 to leak R1's routes from L1 to L2.

oo

Correct Answer: B
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 68
Click the Exhibit button.

Custamer A

Cusiomer A 3 &
T { ; BEY _——TTE
s A -

Referring to the exhibit, PE2 requires the loopback of PE1 to appear in the inet.3 routing table as a labeled route. Which configuration parameter is specifically
required to support this?

resolve-vpn

family inet-vpn

traffic-engineering bgp-igp
traffic-engineering mpls-forwarding

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 69
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What are three Junos automation scripts? (Choose three.)
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op scripts
pulse scripts
commit scripts
event scripts
action scripts

moow>

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 70
Click the Exhibit button.

LDFP VPLS

Your IT manager asks you to describe a benefit of migrating from LDP VPLS towards BGP VPLS considering the operational network shown in the exhibit. What
can you tell your manager?
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Using BGP signaling improves scaling, because a full mesh of transport LSPs is not needed.
MAC addresses are learned through BGP instead of LDP, which improves scaling.

Ingress PE replication can be reduced, because BGP VPLS supports P2MP LSPs.
Configuration overhead is reduced when adding new sites or new VPNSs.

Cow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Topic 2, Volume B

QUESTION 71
Click the Exhibit button.
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In the exhibit, your Layer 3 VPN uses BGP to send and receive routes from customers. Customer A reports that remote routes are not being received on
CE2.Which configuration parameter is missing from your PE router configuration?

A. vrf-import
B. vrf-export
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C. as-override
D. advertise-peer-as

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 72
Click the Exhibit button.
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Provider

0.0.0.0/0
‘:ti.L
I

R1 R2

0

In the exhibit, R1 and R2 have a static default route configured that points toward the provider. Both routers redistribute the default route into OSPF. R2 is the
preferred gateway to reach the provider. R1 is the backup gateway. All link metrics are equal. Which two steps ensure that traffic to the provider flows through R2
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while the network is working properly? (Choose two.)

Redistribute the default route as a Type 1 external route on router R1 and a Type 2 external route on router R2.
Redistribute the default route as a Type 2 external route on router R1 and a Type 1 external route on router R2.
Modify the preference value of the default route on router R1 so that it is less preferred than OSPF external routes.
Modify the preference value of the default route on router R2 so that it is more preferred than OSPF external routes.

Cow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 73
Click the Exhibit button.
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[edit]
uzerithost# show class-of-service
schedulers {
wolce |
transmit-rate percent 40;
priority strict-high;
1
critical |
transmit-rate percent £25;
priority high;
H
less—critical |
transmit-rate percent 15;
priority mediwenhigh;
1
data |
transmit-rate percent 10;
priority mediuwn-1ow;
H
lett-over |
transmit-rate percent 5;
priority low;

On your MX Series router, traffic using the voice scheduler has exceeded its transmit rate. All other data is currently in profile. Referring to the exhibit, which
statement is correct?

The voice queue is serviced later than the less-critical queue.
The voice queue is serviced later than the left-over queue.
The voice queue is serviced before the critical queue.

The voice queue is serviced after data queue.

CSow>»

Correct Answer: C
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 74
Click the Exhibit button.
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182.168.1.1

In the exhibit, R1 has a loopback address of 192.168.1.1. Its loopback interface is included in OSPF Area 1.Which two statements are true? (Choose two.)

A. R1 will advertise the loopback address in a Type 1 LSA.
B. R1 will advertise the loopback address in a Type 3 LSA.
C. Area 0 will see the loopback address in a Type 1 LSA.
D. Area O will see the loopback address in a Type 3 LSA.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 75
Click the Exhibit button.
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Custormer A
Site 2

CE2

Customer A Customer A
Site 1 el =~ Site 4
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Site 1 10 Site 2 is VLAN 512
Site 1 10 Site 3 is VLAN 513
Site 1 10 Site 4-is VLAN 514
Site 2 to Site 3 is VLANM 523
Site 210 Site 4 is VLAN 524
Site 3 to Site 4 is VLAN 534

CuslaFner A
Site 3

GRATIS

Free Practice Exams

http://www.gratisexam.com/

You are provisioning a full-mesh BGP Layer 2 VPN for Customer A. The customer has four remote sites in their network. Using best practices, you assigned
interface unit numbers matching the assigned VLAN numbers. Which Layer 2 VPN configuration is correct for PE27?
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A 1Zwvpn
encapsulation-type ethernet-vlan;
zite CEZ {

site-identifier Z;

interface ge-0/0/0,523;
interface ge-0/0/0,51Z2;
interface ge-0/0/0.5Z24;

B. 1Zwvpn {
encapsulation-type ethernet-vlan;
zite CBZ {

site-identifier Z2;

interface ge-0/0/0.523;
interface ge-0/0/0,524;
interface ge-0/0/0,512;

. 1Zwpn |
encapsulation-type ethernet-vlan;
site CBEZ |

site-identifier 2;

interface ge-0/0/0.51Z;
interface ge-0/0/0.5E3;
interface ge-0/0/0.5E24;

0. 12vpn |

encapsulation-type ethernet-vlan;

gite CEZ |
zite-identifier Z;
interface ge-0/0/0.51Z2;
interface ge-0/0/0.524;
interface ge-0/0/0.5E3;
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A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 76
Which statement is true about IS-1S?

A. IS-IS level 1 internal routes are announced to level 2 by default.

B. AllIS-IS level 1 routes are announced to level 2 by default.

C. IS-IS level 2 internal routes are announced to level 1 by default.

D. IS-IS does not share routes between level 1 and level 2 by default.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 77
Click the Exhibit button.
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In the exhibit, network 172.16.0.0/16 is redistributed into I1S-IS in Area 49.0002. R1 must use R2 to access 172.16.0.0/16. All other traffic leaving Area 49.0001 must
use R4.Which three steps will accomplish this task? (Choose three.)
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Configure R1 to ignore the attached bit.

Disable the attached bit on R4 in Area 49.0001.

Enable an L2 adjacency on the link between R1 and R2.
Leak network 172.16.0.0/16 into L1 on R2.

Redistribute a static default route into L1 on R4.

moow®y»

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 78
Click the Exhibit button.
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[edit]
rootRR3IE run show isis database
I3-I8 lewel 1 link-state databhase:

L8P ID Sequence Checksum Lifetime Attributes
R2.00-00 D1 Oxz2748 1146 T1 L2
1 LEP=

I3-I8 lewel 2 link-state database:

L3P ID Sfequence Checksum Lifetime Attributes
R4 .00-00 0x2 Oxda?B8 1150 L1 L2
R3.00-00 Ox2 OxZdel 1152 11 LZ
B3 .0Z-00 01 O0x48z6 1152 T1 L2

3 LEP=

Based on the output in the exhibit, which statement is correct?

R4 has been configured with an IS-1S export policy and is announcing external routing information.
R3 and R4 have an adjacency at both level 1 and level 2.

R3 has been configured so that it is not used for transit traffic.

R3 and R4 have only a level 2 adjacency.

Sow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 79
Click the Exhibit button.
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user@PEL> show route advertising-protosol bgp 19%2.168.3.1

customer—vpn. inst.0: § destinations, 5 routes (5 zotive, 0 holddown, 0 hidden)

Prefix Nexthop MEL Lelpref A2 path
¥ oIvEL16.2.0/28 Self 100 I
* 17F.1A.20.0/30 Self 100 a5001 T
* 17E.1A.20.49430 delf 100 63001 T
* 17E.16.20.8/30 Self 100 B3001 I

uzer@PELl> show route receive-protocel bhgp 192.162.4.1

inet.0: & destinations, & routes (& active, 0 holddown, 0 hidden)

inet.3: 1 destimations, 1 routes (1 active, 0 holddown, O hiddsan)
customer—-vpn. inet.0: Z destinations;, 2 routes (£ active, 0 holddown, 0 hidden)
izo.0: 1 destinationsz, 1 routes (1 active, 0 holddown, 0O hiddsan)

mpls.0: 5 destinations, S routes (5 active, 0 holddown, 0 hidden)

Customer A is complaining that routes advertised from the CE2 router are not being received on the CEL1 router. The physical topology of the network is CE1-PE1-
PE2-CE2. The CE1-PE1 subnetis 172.16.1.0/24. The CE2-PE2 subnet is 172.16.2.0/24. PE1's loopback is 192.168.3.1 and PE2's loopback is
192.168.4.1.Referring to the output in the exhibit, what is the problem?

No LSP exists between PE1 and PE2.
Route targets are not properly configured.
as-override is not configured in the VRFs.
family inet-vpn is not configured on the PEs.

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 80
Click the Exhibit button.
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AB1

mesh-group

mesh-group

In the exhibit, all routers within each AS are configured for Anycast RP. All intra-AS routers are configured within the same MSDP mesh group. Inter-AS multicast
has been enabled using MSDP without MSDP mesh groups. Which statement is true?

A. The AS border routers allow TCP port 636 in their infrastructure ACLs.
B. Duplicate SA messages may be received in AS2.

C. SA messages from R5, R7, or R8 are not forwarded to AS1.

D. Inter-AS MSDP peerings must be configured on the AS border routers.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 81
What does the Junos command advertise-inactive allow?

OSPF inactive routes to be advertised using BGP

inactive and hidden BGP routes to be redistributed into OSPF

the best BGP route to be re-advertised by BGP, even when it is not the best route

the second-best BGP route to be re-advertised by BGP, to back up the best BGP route

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 82

Real 62
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Click the Exhibit button.
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AS 65420

Loopback |Ps

R1 = 2001:DB8:FAC1:A1
R2 = 2001:DBB:FAC1:AZ
R3 =2001:DB8:FAC1:AZ
R4 = 2001:DB8:FAC A4
RS = 2001:DB&8:FAC1:AS

RS R4

The routers shown in the exhibit are connected in a full BGP mesh. R1 is the route reflector and R2 through R5 are clients. R3 should only receive one copy of all
routes sent from R4.Which configuration is valid?
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A [edit protocols bgpl

roct@RZ#E show

group AZE5420 |
type internal;
local—-addre=ss Z2001:db8: facl::ad;
cluster 10.1.1.1;
neighbor 2001:dk8:facl::al;
neighbor 2001:dk8: facl::a3;
neighbor 2001:db8: facl::a4d;
heighbor 2Z001:dk8:facl::akb;

T B [edit protocolsz bgpl

root@RZ# zhow

group ARe5420
type internal;
local-addre=zzg 2001:db8: facl: :ad;
no-client-reflect;
neighkbor 2001:dk8: facl::al;
neighbor Z2001:db8: facl::a3;
neighbor Z2001:dkB8:facl::ad;
neighbor 2001:dk8:facl::ak;

" C. [2dit protocols bgpl

roct@R1# =how

group ASG65420
type internal;
local-address 2001:db8:facl::al;
cluster 10.1.1.1;
no-client-reflect;
neighbor 2001:dk8: facl::aZ;
neighbor 2Z001:db8:facl::a3;
neighbor 2001:db8:facl::ad;
neighbor Z2001:db8:facl::ab;

vw.gratisexam.com/
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A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 83
You manage an MPLS network. You are asked to classify traffic using the EXP bits from ingress to egress. What will allow you to accomplish this?

Configure explicit-null on the penultimate router.
Configure explicit-null on the egress router.
Configure implicit-null on the penultimate router.
Configure implicit-null on the egress router.

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 84
Junos scripts can be written in which two languages? (Choose two.)

XLS
XML
XSLT
SLAX

Sow>»

Correct Answer: CD
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 85
Click the Exhibit button.
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You are an employee of ISP A. You must not allow traffic between ISP B and ISP C to cross your network, but customers of ISP B and ISP C must be able to reach
your customers. Referring to the exhibit, which two actions would do this? (Choose two.)

http://www.gratisexam.com/



Use communities to identify and filter routes.
Use policy to filter routes on AS number.
Use origin code to identify and filter routes.
Use the well-known no-advertise community.

Cow>

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 86
Click the Exhibit button.
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Customer A is complaining that CE1 and CE2 cannot form an OSPF adjacency across your LDP Layer 2 circuit. The physical topology of the network is CE1-PE1-
P-PE2-CE2. PE1's loopback is 192.168.5.1, P's loopback is 192.168.6.1, and PE2's loopback is 192.168.7.1.

Referring to the output in the exhibit, what is the problem?
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mismatched virtual circuit ID values
mismatched interface encapsulations
incorrect PE-CE interface configuration
extended LDP neighbor not established

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 87
You are a network administrator in charge of configuring CoS for your network. Your network includes a voice application with strict latency requirements, so that
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any packets delayed by more than 75 ms are effectively useless. When configuring the scheduler for this application, which feature ensures that you do not waste
buffer space?

A. rate-limit
B. adaptive
C. latency-limit
D. temporal

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 88
Click the Exhibit button.
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You are the administrator of AS 65000. There are four links between your network (AS 65000) and your upstream provider (AS 65001). You have an import policy
on all of your routers. The routing table on the customer router has four routes to the Web server as follows:

Router A. Local Pref 110, IGP Cost 1000
Router B. Local Pref 100, IGP Cost 200
Router C. Local Pref 110, IGP Cost 900
Router D. Local Pref 100, IGP Cost 1000

Through which link will traffic to the Web server leave your network (AS 65000) from the customer router?
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Router A
Router B
Router C
Router D

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Real 69
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Explanation:

QUESTION 89
You are asked to design a Layer 2 VPN service between service provider networks that needs Ethernet transport capabilities. The VPN should support two or three
endpoints. Which Layer 2 VPN technology should you propose?

LDP-signaled VPLS

BGP-signaled VPLS, using the RFC 4448 Layer 2 frame format
LDP Layer 2 circuit, using the RFC 4448 Layer 2 frame format
BGP Layer 2 VPN

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 90
You just added route reflectors to your network and you find that all of your VPN routes are hidden on the route reflectors. What three solutions can you use to solve
this? (Choose three.)

A. Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on all of the client routers.
B. Add MPLS LSPs between the route reflectors and their client routers.
C. Apply a next-hop-self export policy on each of the route reflectors.
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D. Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on the route reflectors.
E. Add a static default route to inet.3 and/or inet6.3 on the route reflectors.

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 91
Click the Exhibit button.
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Customar A o Y Customezr A

Customar B

Customer A Customer B

Given the existing operational network shown in the exhibit, you now want to add a remote site for Customer B to the PE3 router. This change should not have an
effect on the existing BGP sessions between the PE routers. Which Layer 3 VPN scaling mechanism allows PE3 to begin receiving Customer B routes?

http://www.gratisexam.com/



route origin

route refresh

route reflection
route target filtering

Cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 92
Click the Exhibit button.
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[edit]
useridhost# show class-of-service
schedulers {
volce |
transmit-rate percent 40;
priority strict-high;
h
aritical |
transmit-rate percent 25;
priocrity high;
!
lesz-critical |
transmit-rate percent 15;
priority mediunhigh;
!
data {
transmit-rate percent 10;
priocrity mediuwe1ow;
!
left-over |
transmit-rate percent 5;
priority low;

On your MX Series router, traffic using the critical scheduler is out of profile. All other data is currently in profile. Referring to the exhibit, which statement is correct?

The critical queue is serviced before the less-critical queue.
The critical queue is serviced after the left-over queue.

The critical queue is serviced before the data queue.

The critical queue is serviced before the voice queue.

CSow>»

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 93
Click the Exhibit button.
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4 X
1B 192.168.110.0/24 S 1IR
PR
b 3
= AREA" AREA 0
= R2

R1 Loopback: 192.168.1.1/32
R2 Loopback: 192.168.1.2/32

Area 1 has three network links. You need to summarize the network addresses in Area 1 so that Area 0 sees one route representing the network links. A route to
each loopback address must still be visible in Area 0.Which configuration sample on R3 and R5 will complete this task?
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A. Option A
B. Option B
C. OptionC
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D. Option D

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

Explanation:
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QUESTION 94
Click the Exhibit button.
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[gdit zlags-of-service]
userf@router# show
classgifiers |
dsop classifierh |
forwarding-class low-priority |
loss-priocity low code-pointa 0OO000D;
lo==s-priority high code-pointa 000001;
|
forwarding-<lass medium-priority |
loss-priority low code-points 000010;
loss-priority high code-points 000011;
|
forwarditg-=zlass high-pricocity |
loss-priority low code-points 000100;
loss—priority high code-points 000101;

forwarding-classes |
class low-priority gqueusnum 0;
class medium-priority gueus—num 1;
class high-priority gqueus—num 2;
class NO queus—num 3;
}
interfaces |
ge-1/0/4 {
unit 0 {
classifiecs |
dacp classifierd;

ge=1/0/5 |
schedul er-map sched-maph;

Real 75
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scheduler-mapa |
ached-maph |
forwardaing-class low-priority scheduler low-pri-scheduler;
forwarding-class mediun-pricrity scheduler med-pri-scheduler;
forwarding-class high-priority scheduler high-pri-scheduler;
formarding-class NC scheduler NC-acheduler;

}
schedulers {

low-pri-schedulsr |
transmit-rate 100m exact;
buffer-size percent 30;
pricrity Llaow;

i

med-pri-scheduler |
transmit-rate percent 10;
buffer-size percent 10;
priority medium-high;

1

high-pri-scheduler |
travismit-rate 100m rate-limit;
buffer-size percent 20;
priority high;

'

NC—scheduler |
transmit-rate percent 3;
buffer-size percent 5;
priocity high;

You manage an MX series router (with 100 ms buffer size per port) that includes the configuration shown in the exhibit. Traffic marked with DSCP 000101 is

entering the ge-1/0/4 interface at 102 Mbps. The traffic exits the device on the ge-1/0/5 interface. There is no other traffic transiting the router. What happens to
traffic exceeding 100 Mbps?

A. Traffic exceeding 100 Mbps is forwarded.
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B. Traffic exceeding 100 Mbps is buffered.
C. Traffic exceeding 100 Mbps is redirected to a rate limiter.
D. Traffic exceeding 100 Mbps is dropped.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 95
Click the Exhibit button.
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AS 65432 AS 65221

L. N N B N N N N N

R3 and R4 want to establish an EBGP session between each other's loopback addresses. Static routes have been configured for the loopback addresses and you
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can ping from loopback to loopback. Their EBGP sessions are configured with multihop to allow for additional hops. The correct AS numbers have been specified at
the [routing-options] hierarchy as well. Considering the topology in the exhibit, which statement is true?

BGP's protocol preference must be adjusted to be lower than protocol static for the session to establish.
Each peer must configure a local-address of their own loopback for the session to establish.

Each peer must specify a local-as within their EBGP configuration for the session to establish.

Each peer must configure multipath for the session to establish.

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 96
You are evaluating a routing policy for an ISP and you find the ~42+ .* (23|9)$ regular expression. Which three AS paths match the regular expression? (Choose
three.)

424242429
42 42 23 500
4242 42609
42 6023942
42 69 500 23

moowy»

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Real 77
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Explanation:

QUESTION 97
Click the Exhibit button.
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15Z.188.56.1
From: 192.158.56.5, LEFPstate: Up, ActiveRoute: 0O
LdPrname: to-ré, L3Ppath: Primary
LdPtype: Static Configured
Suggested label received: -, Suggested label sent: -

Recovery label received: -, Recovery label sent: 3
Resv style: 1 FF, Label in: -, Lakel out: 3
Time left: -, 8ince: Tue Feh 22 21:38:36 2011

Tzpec: rate Obps size Obps peak Infbps m 20 M 1500
FPort number: sender 1 receiwver 18916 protocol O
FastReroute desired
PATH roevirom: localeclient
Adspec: sent MTU 1500
Path MTU: received 1500
PATH sentto: 10.10.56.1 (ge—-1/0/1.0) 7 pkts
RESV revirom: 10.10.56.1 i(ge-1/0/1.0) 5 pkts
Explet route: 10.10.56.1
RBecord route: <self> 10.10.56.1
Detour is Up
Detour Tspec: rate Obps size Dbps peak Infhps w 20 M 1500
Detour adspec: sent MTU 1500
Path MTU: receiwved 1500
Detour PATH sentto: 10.10.10.% (ge-1/0/2.0) 4 pkts
Detour BEEAV rewfrom: 10.10.10.9 {ge-1/0/2.0) 3 pkts
Detour Explet route: 10.10.10.9 10.10.10.46
Detour Record route: <self> 10.10.10.%2 10.10.10.6
Detour Label out: Z59985&

Referring to the exhibit, which type of traffic protection mechanism is used for the LSP?

link-protection
fast-reroute
node-link-protection
bypass

Cow>

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 98
Click the Exhibit button.
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[edit]
Jorgdpel# show routing-instances meast-pe-vrf
instance-type vrf;
interface ge-1/0/9.101;
irnterface 1lol.1;
provider-tumnel {
rsvp-te {
label-switched-path template |
mvpn-example;
1
1

h
protocols |

pim {
rp A
lozal §
address 192.168.13.3;
1
I

interfaces all |
mode sparse;

1
h
mvpn |
mvpn-mode |
spt-only;
1

A customer has the configuration shown in the exhibit applied to the VRF C-PIM domain. What can you determine from this configuration?

The PE is configured for selective PMSI (S-PMSI) only.

The C-RP is collocated on one of the PEs in the MVPN.

The MVPN is not working because the receiver-site command is missing.

Multicast traffic will not switch to the S-PMSI because the vpn-group-address command (data MDT) is missing.

CSow>»
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 99
The network design team has decided to activate multicast in the network. Auto-RP has been selected as the RP mechanism. Which PIM operational mode must
be enabled in this network?

sparse mode
sparse-dense mode
dense mode

source specific multicast

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 100
Click the Exhibit button.
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Rl Configuration:

ugerffl> show isis interface
I3-I8 interface detabase:

Intecface L CirID Lewel 1 DR Level Z DR L1/LZ Mektraic
ge=1/0/2.0 3 D1 m1.00 R1.00 1010
10,0 a Oxl Passiwve Pasaive o/

tootfRl> shew configuratien interfaces
ge~1/0/2 {
mtu 1450;
unic 0 §
family inet |
address 10.10.10.1/24;
I
family izao;
H
}
1o0 |
unzt 0
tamily anet |
address 192.1&2.1.2/32;
'
family isa |
address 49 . 0002.0000.0000.0002.00;
'

]

userfrl> shew configuratien protocols
isig |

interfase ge-1/0/2.0;

interface lo0.0;
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R2 Configurstion

user@hf> show 1312 interface
I8-I8 interface database:

Interfacse L ¢irID Lewvel 1 DR Leval 2 DR L1/LE Metrie
ge-1/0/0.0 3 Ol RZ.00 PE .00 10710
1a0.0 ] Oxl FPassive Fassive o/0

root@R2Z> show configuration interfaces

ge-1/0/0 (
miw 1450;
unit 0 f
family inet {
address 10.10.10.2/24;
b
family i3o;
i
}
1o |
unit 0 {

family inet |
address 1922.168.3.1/32;

B

farmily iso |

address 49.0001.0000.0000.0001.00

1
I
userf@REZ> show configuration protocols
isig- |
interface ge-1/0/0.0;
interface lo0.0;

R1 and R2 are directly connected using the interfaces shown in the exhibit. R1 can ping R2's interface, and R2 can ping R1's interface. The IS-IS adjacency will not
come up. What is causing the adjacency to fail?

A. The correct levels are not configured under protocols isis.
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B. The link MTU is too small to support IS-IS.
C. Authentication is not properly configured for the adjacency.
D. Both routers are configured as the DR, causing a conflict.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 101
An administrator wants to block the re-advertisement of the 10.10.255.6 FEC to all LDP neighbors while still advertising the local router's loopback address. What

will accomplish this?
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™A Zdp ¢
z2yress—folizy ilock-cn=;
intertace =11
|
pelisy—opt_ones |
policv—s=sle_zm=nl bloci-uoe

tearm 1
Tecam |
reute—-=ilTsr 20,10,235.6/32 a¥son reject:
¥
'
tarm = |
Troen aoCapt:

'
= | a5 ]
siport Elock-one!
interface z11;
b

relimy—apd-ors |
prlicy—-otoToasnt kloci-ono
tarm 1 ¢
Touom
ronte——1l=ar TR WAy exacnt regect:

'
Lerm =
ten amcept

H
R R e
i.'u[.w_'- ch Llochk-ooe;
intertace all;
]

Foxlicv—opticns
policw—s_ o smenl Llock-une

w1
from
roeute—-=il-Zsar Z0,10,235.6/32 a¥act rejecth:
F
b
Tarm e o

—Ion acooernth:

-



w

D.

Option A

Option B

Option C

Real 82

Juniper JNO-660 Exam

Option D

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 102
Click the Exhibit button.

My VPLS2 {

instance-type vpls;
interface ge-1/0/1.0;
protocols |
vpls o
no-tunnel-services;
vpls-id 100;
neighbor 192.188.1.1;

Referring to the exhibit, which two statements are true? (Choose two.)

Cow>

The VPN uses LDP signaling for VPLS services.

The VPN uses BGP signaling for VPLS services.

The PE and directly attached CE are multihomed.

There are only 2 PEs with VPN membership in the network.
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Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 103
Click the Exhibit button.
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useridhost> show pim join extensiwve

Instance: PIM.master Family: INET
B = Rendezvous Point Tree;, & = dparse, W =
Group: 22%9.1.1.1

dource: *

EP: 10.255.14.144

Flags: sparse, rptree, wildcard
Upstream interface: Logal
Upstream neighbor: Lozal
Upstream state: Local RE
Dowvmstream neighbors:
Interface: =zo-1/0/0.0
10.111.10.2 8tate: Join Flags:
Interface: mt-1/1/0.32758
10.10.47.100 #tate: Join Flags:

Group: Z23%9.1.1.1
Source: 10.255.14.144
Flags: sparse,spt

Upstream interface: Local
Upstream neighbor: Local
Upstreatm state: Logal Source,
Keepalive timeout: 344
Dovmstream neighbors:
Interface: so0-1/0/0.0
10.111.10.2 8tate: Join Flags:
mbt-1/1/0.32748

Lozal RP

2

Interface:

Wildeard

SRW Timeout: 174

SEW  Timeout: Infinity

Timecout: 174

5, Timecout: Infinity

10.10.47.100 gtate: Join Flags:
Group: 2359.1.1.1
dource: 10.255.70.15
Flags: sparse,spt
Upstream interface: so0-1/0/0.0
Upstream neighbor: 10.111.10.Z
Upstream state: Logal RF, Join to dource

Keepaliwve timeout: 344
Dovmstream neighhors:
Interface: Pzeudo-GMEP
fe-0/0/0.0 fe-0/0/1.0 fe-0/0/3.0
Interface: so0-1/0/0.0 (prunesd)
In 141 1n % 9+a2+=+ Pir1ime Bl armas

ST Marmeamiits 174



Given the output in the exhibit, which three statements are correct? (Choose three.)

PIM spare-dense mode is used.

PIM sparse mode is used.

The receiver and source 10.255.70.15 are on the shortest path tree.
The receiver and source 10.255.70.15 are on the shared tree.

The receiver and RP are on the shortest path tree.

moowp»

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 104
Click the Exhibit button.
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ISP A

I \". e it = L ::-
(5 [192.0.2.413D (.8)
N K@f'u‘/" { ISP B \
" R1 Lo f AS 85502 |
"'x..__ -.".._ g F Ig{:“h 'l R2 -I
— Tl | :
— LI
[edit protocols bgp] e -~ /
userl@rRlf show [ /
group isp-b { i £ o
type external;
peer-as 65502; “, \ R3 :
neighbor 182 . 0.2.6; o #
neighbor 192.0.2.10; o S

Referring to the exhibit, you work for ISP A and are asked to configure R1 to forward traffic for all routes across both available links, to both routers in ISP B's
network. Which three configuration commands do you use? (Choose three.)

set protocols bgp group isp-b multihop

set policy-options policy-statement load-balance then load-balance per-packet
set routing-options forwarding-table import load-balance

set protocols bgp group isp-b multipath

set routing-options forwarding-table export load-balance

moow®y»

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 105
Click the Exhibit button.
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Cuslomer A

Customer A
7~ PE1 ASBR1™ 7 ASBR2 PEZ ., | ez
BN = e e
e 5P M 18P o
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You are building an interprovider VPN with ISP2 to support end-to-end connectivity for Customer A, as shown in the exhibit. For scalability reasons, the ASBR
routers cannot exchange VPN routes for Customer A. Which two configurations are needed to support this requirement? (Choose two.)

family inet-vpn on the ASBRs
labeled-unicast on the ASBRs

multihop EBGP between the PEs

one VRF on the ASBRs for Customer A

Cow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 106
An OSPF database contains two router LSAs with identical link information indicating that one LSA is not valid. Which action will immediately clear the invalid LSA
from the network without waiting for the LSA to time out or resetting the OSPF sessions on the router?

A. user@router# deactivate protocols ospf
user@router# commit
user@router# activate protocols ospf
user@router# commit

B. user@router> clear ospf database purge
user@router> clear ospf database
D. user@router> restart routing

O
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 107
Click the Exhibit button.
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ISP A - - Customer X
AS 65042 . AS 65100
Customer Y ISP D

M
AS 65333 AS 65500

All ISP networks shown in the exhibit contain many BGP speaking routers. You are in charge of ISP A. You must ensure that customer Y sends their traffic to you
over the directly connected link but customer Y is not used for transit into your network. What do you do to accomplish this?
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A. Advertise routes to customer Y with a higher MED than routes advertised to customer X.
B. Advertise routes to customer Y with the well-known no-advertise community.

C. Advertise routes to customer Y with your AS number prepended four times.

D. Advertise routes to customer Y with the well-known no-export community.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 108
Click the Exhibit button.

Layer 2 VPN
sigraing

DP transport LSP

Real 87
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Referring to the exhibit, which statement is true assuming BGP Layer 2 VPN signaling?

A. PE1 receives two BGP NLRI updates, each containing a remote site ID, a label base, and Layer 2 encapsulation.
B. PE2 receives one BGP NLRI update containing a remote site ID, a label base, and Layer 2 encapsulation.
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C. PE2 receives two BGP NLRI updates, each containing a remote site ID, label vc, and Layer 2 encapsulation.
D. PEL1 receives one BGP NLRI for VPN A containing only a remote site ID and a label offset value.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 109
You are asked to design a Layer 2 VPN service for a service provider network that supports Ethernet and ATM transport. Which two Layer 2 VPN technologies will
meet this requirement? (Choose two.)

LDP-signaled VPLS, using draft martini encapsulation
BGP-signaled VPLS, using the RFC 4448 Layer 2 frame format
LDP Layer 2 circuit, using the RFC 4448 Layer 2 frame format
BGP Layer 2 VPN, using draft-Martini encapsulation

Cow>»

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 110
An LDP Layer 2 circuit is configured for VPN A and VPN B. Which three statements are true regarding LDP Layer 2 circuit signaling? (Choose three.)

PE-P LDP sessions use Martini encapsulation.

PE-PE LDP sessions can be extended or adjacent.

VREF tables are needed on the PEs.

TCC encapsulation is needed to interconnect different interface types.
The VC type field in the LDP header specifies the encapsulation type.

moow»

Correct Answer: BDE
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

Real 88
Juniper JNO-660 Exam

QUESTION 111
You are provisioning a new customer for an LDP Layer 2 circuit. You have assigned them VLAN 600 on interface ge-1/0/0.Which configuration correctly provisions
the interface?
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A, interfaces |
ge-1/0/0 |
vlan-tagging;
unit &00 {
encapsulation wvlan-coc;

wlan—-id &00;

B. interfaces |
ge-1/0/0 {
vlan-tagoging;
encapsulation wvlan-coo;
unit &00 {
wvlan—id &00;

. interfaces |
ge-1/0/0 {

encapsulation vlan-cog;
unit &00 §

encapsulation wvlan-ooo;
wvlan—id &00;

D interfaces {
ge-1/0/0 {
vlan-tagging;
encapsulation vlan-cog;
unit &00 §

encapsulation wvlan-ooo;
wvlan—id &00;
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Option A
Option B
Option C
Option D

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 112
Click the Exhibit button.
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In the exhibit, R2 and R3 are both rendezvous points. Assume that R2 fails. Which RP redundancy method could converge the multicast stream and RP as quickly
as the IGP?

A. BSR without the use of MSDP

B. Anycast RP and MSDP

C. Auto-RP in combination with MSDP
D. Auto-RP without using MSDP

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Real 91
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Explanation:
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QUESTION 113
Which two statements are true when configuring OSPF authentication? (Choose two.)

An OSPF link can support both simple password and MD5 authentication at the same time.

An MD5 password requires a key ID.

You can configure multiple MD5 passwords simultaneously on the same link.

If the MD5 password negotiation fails, you can configure OSPF to automatically use a simple password as a backup.

CSow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 114
Which three statements are true about the BGP community attribute? (Choose three.)

There are three well-known communities.

Communities can be used to signal local preference in other AS networks.
Only well-known communities can be passed between AS networks.
Routing policies can be simplified using BGP communities.

Communities are used in the route selection process.

moowy

Correct Answer: ABD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 115
An IS-IS level 1-only router is configured within a larger multilevel hierarchy. Which OSPF area type resembles the routing information in the L1 router's table?

A. OSPF default area
B. OSPF stub area
C. OSPF NSSA
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D. OSPF NSSA with no summaries

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 116
Click the Exhibit button.

BZE
B&E

B=FE
B=F
B&FE
B=E
BZE
BzFE
B&E
B=F

RECY
RECV

RECWY
RECV
RECWV
RECY
RECV
RECV
RECY
RECWY

192.168.54.

14172 -= 192.168.56.5+459444

meszage type 4 (KeepiAliwve) length 19

192.168.56.

1+172 -% 1592.168.56.5+45444

message type Z£2 (Update) length 54

Update PDU
flags 040
flags 0Oz40
flags 0Oz40
flags 040

10.

length 54

code Origin(l): IGE

code A3Path(Z) length 0: <null=
code NextHopi(3): 13Z.168.56.1
code LogalFPrefi(5): 100
10.56.0/30 , 192.168.56.1/32

The exhibit contains a sample trace file of a BGP update message. Which two statements are true? (Choose two.)

Cow>»

Correct Answer: AB
Section: (none)

10.10.56.0/30 is a route internal to the AS.

The router that sent this update is the BGP originator of 10.10.56.0/30.
The BGP session is EBGP.

The local preference has been changed from the default settings.
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Explanation

Explanation/Reference:
Explanation:

QUESTION 117
Click the Exhibit button.
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b

Your employer is ISP A. Your customers must be able to reach customers of both ISP B and ISP C, but your network must not allow transit traffic between ISP B
and ISP C at any time. Referring to the exhibit, what are two solutions? (Choose two.)

A. Use policy to filter routes on AS number.
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B. Use the well-known no-export community.
C. Use the MED to prefer the proper routes.

D. Use communities to identify and filter routes.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 118
Click the Exhibit button.
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10100.0/22

RZ
{ASBR)

192.168.4/30
{RiF)

(ASBR)

You are asked to configure an OSPF network based on the topology shown in the exhibit. Area 1 must not receive Type 5 LSAs from the backbone, but must be
capable of containing ASBRs.

What will accomplish this?

Area 1 should be configured as a stub area, which by default meets the network'’s requirements.

R3 should be configured with no-externals for Area 1, which will suppress Type 5 announcements.
R3 should be configured with no-summaries for Area 1, which will suppress Type 5 announcements.
Area 1 should be configured as an NSSA, which by default meets the network's requirements.

oo

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 119
Click the Exhibit button.
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I-PMSI

Racaivar

In the exhibit, NG-MVPN is used for a Layer 3 VPN. Which two statements are valid? (Choose two.)

The egress PEs for I-PMSI tunnels should signal a label value of 3.
The vrf-table-label parameter is configured on the PEs.

PIM must be enabled on the PE and P routers.

The provider tunnel shown is similar to a draft-Rosen default MDT.

CSow>»

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 120
Click the Exhibit button.
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[edit protocols mpls]

uszerf@router# show

label-switched-path to-egress |
to 17Z2.40.,100.210;
secondary path-one;
secondary path-three;
secondary path-two;

1

path path-one {
I 2, 20 TR

'

path path-two |
172.20,3100.5;

}

path path-threes |
172.20.100.5;

H

interface all;

interface fxp0.0 |
dizakle;

Based on the configuration in the exhibit, which statement is correct?

If path-one fails, the LSP will attempt to signal a new LSP using path-three.

If path-one fails, the LSP will attempt to signal a new LSP using path-two.

If path-one fails, the LSP will not attempt to signal a new LSP.

If path-one fails, the LSP will attempt to signal a new LSP using both path-two and path-three.

CSow>»

Correct Answer: A
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 121
You are monitoring the control plane traffic using a network analyzer on an Ethernet network segment with all routers configured with 1S-1S routing. Which two

statements are true? (Choose two.)

A. DIS will send hellos more frequently than other IS-IS devices.
B. L1 and L2 hellos are combined in a single hello packet.

C. PSNPs are sent periodically.
Real 97
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D. Only the DIS will send CSNPs periodically.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 122
Click the Exhibit button.
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Customer A
Remote Office
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hdain Office

Customer A
Famate Cffica

In the exhibit, Customer A uses private RFC1918 addresses within its network. The customer wants to have all Internet access for its organization transit through
the main office for security and NAT purposes. Each of the PE routers in your network contains Internet routes in the main instance routing table and is capable of
provisioning both a VRF and a non-VRF interface to its attached CE router. Which router should be configured to accomplish the administrative goal of the
customer?

p
PE1
PE2
PE3

Cow>»

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:
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QUESTION 123
Click the Exhibit button.
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userJFPEZ> show route advartiaing—prutacnl bgp 192.1628.3.1

customer—vpn. inet.0: 5 destinationa, 3 routes (5 active, 0 holddown, 0 hidden)

Erefix Nexthop MED Lelpret A8 path
+ 172.16.2.0/24 Z2elf 1oo I
* 172.16.20.0/30 del f ioo 653001 x
* 172.16.20.4/30 Self 100 63001 I
* 172.16.20.8/30 Zelf 1oo 65001 T

user@PEL> show routeé receive-protocol bgp 1PE.1658.4.1
inet.0: & destinstions, & routez (6 actiwve, 0 holddown, 0 hidden)
inet.3: 1 destinations, 1 routes (1 active, 0 holddeown, 0 hidden)

customer—vpn. inet.0: & destinations, & routes (6 active, 0 holddown, 0 hidden)

Frefix Nexthop HMED Loelpref A8 path
e e £ P 152.168. 4.1 Loo I
* 172.16.20.0/30 192.168.4.1 1oo 65001 I
* 172.16.20.4/30 1%2.168.4,.1 oo 65001 I
+ 172.16.20.8/30 152.168.4,1 1oo 65001 I

izo.0: 1 destinations, 1 rowktes (1 active, 0 holddown, 0 hidden)
mpla.0: 5 destinetions; 5 routes (5 acktiwve; 0 holddown, O hidden)

hgp.13vpn.0: & destinations, 4 routes (4 active, 0 holddown, 0 hidden)

Prefix MNexthop MED Lelpeef A path
192.,3168.4.1:1:172.16.2,0/24

i 7 3 1< R e 100 I
192,168 4.1:1: 172,16, 20.0/30

o 192.168.4.1 100 £5001 T
192.1e2.4.2:1:172.16.20.4/30

g 192.168.4.1 100 63001 T
192 . 1688 .1:1:192. 16, 20,8730

* 192,168.4.1 100 65001 T

user APElL> show route udvcrtiaing*prntocul bgp 172.16.1.8
customer—vpn. inet.0: & destinations, & routes (6 active, 0 holddown, 0 hidden)

Prefix Hexthop MED Lelpret A% path
* 172182 0724 gelf 1

HIWP. 7w gl ausexdin.cuiiy



Customer A is complaining that routes advertised from the CE2 router are not being received on the CEL1 router. The physical topology of the network is CE1-PE1-
PE2-CE2. The CE1-PE1 subnetis 172.16.1.0/24. The CE2-PE2 subnet is 172.16.2.0/24. PE1's loopback is 192.168.3.1 and PE2's loopback is
192.168.4.1.Referring to the output in the exhibit, what is the problem?

No LSP exists between PE1 and PE2.
Route targets are not properly configured.
as-override is not configured in the VRFs.
family inet-vpn is not configured on the PEs.

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 124
Click the Exhibit button.
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AZT

mesh-group

mesh-group

In the exhibit, all routers within each AS are configured for Anycast RP. All intra-AS routers are configured within the same MSDP mesh group. Inter-AS multicast
has been enabled using MSDP without MSDP mesh groups. Which statement is true?

R6 and R7 should have an MSDP peering, because multiple MSDP AS hops are not allowed.
SA messages received from R2 are not forwarded to R5, R7, and R8.

SA messages from R5 are not forwarded to AS1.

Duplicate SA messages may be received in AS2.

o0

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 125
Click the Exhibit button.
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[edit]
uzer@host# show class-of-service
gchedulers |
voloe |
transmit-rate percent 40;
pricrity strict-high;
}
critical
transmit-rate percent Z5;
priority high;
'
less-craitical |
transmit-rate percent 15;
pricrity mediuwmhigh;
1
data {
transmit-rate percent 10;
priority medium-1ow;
'
left-owver {
transmit-rate percent 5;
pricrity low;

On your MX Series router, traffic using the less-critical scheduler is out of profile. All other data is currently in profile. Referring to the exhibit, which statement is
correct?

The less-critical queue can use the remaining bandwidth.

The less-critical queue cannot buffer traffic, so traffic is dropped.
The less-critical queue is serviced before the critical queue.

The less-critical queue cannot use the remaining bandwidth.

Cow>
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 126
Click the Exhibit button.
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[edit firewall three-color-policer policeri]
userlrouterf# show
two-—rate |
color—aware;
comulitted-infermation-rate 1m;
commltted-burst-size 500k;
peak-information-rate Sm;
peak-burst-size lm;

Traffic is flowing through the policer as shown in the exhibit. The traffic has a throughput rate of 3 Mbps, and the burst size counter is at 1.5 MB. How is traffic
affected?

Traffic has its PLP set to low.
Traffic has its PLP set to medium-low.
Traffic has its PLP set to medium-high.
Traffic has its PLP set to high.

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 127
Which two configuration parameters are required to configure an LDP-signaled VPLS service? (Choose two.)

GRATIS

Free Practice Exams

http://www.gratisexam.com/

vpls-id
site-identifier
route-distinguisher
instance-type vpls

oo

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 128
Click the Exhibit button.
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[ngress LSR Egress LSR

Link Failure
Site 1%@%% e )

As shown in the exhibit, you have an LSP established from R1 to R4. Your network experiences a link failure between R2 and R3.Which statement is correct?

A. A ResvTear message is sent toward the egress router.
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B. A ResvConf message is sent toward the ingress router.
C. A PathErr message is sent toward the egress router.
D. A ResvTear message is sent toward the ingress router.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 129
Click the Exhibit button.
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What is the significance of RIB groups, as shown in the exhibit?

Real 104
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Cow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 130
Click the Exhibit button.

RIB groups alter the multicast RPF check table to inet.O.
RIB groups alter the multicast RPF check table to inet.2.
RIB groups alter the multicast RPF check table to inet.4.
RIB groups alter the multicast RPF check table to inet.3.
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Customer A Customer A

[t ] N

Customer B Customear B

-

Customer C

After adding Customer C to your Layer 3 VPN, you must validate that PE2 is receiving VPN routes for all customers attached to PE1, as shown in the exhibit. Which
operational command displays this information?

show route instance

show route summary

show route table bgp.I3vpn.0
show route table customer-c.inet.0

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 131
You are adding nonforwarding route reflectors to your network. Which three actions ensure that VPN routes are advertised properly? (Choose three.)
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Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on the route reflectors.
Add MPLS LSPs between the route reflectors and their client routers.

Add the route reflectors to the same IGP domain as their clients.

Use rib-groups to add VPN routes to inet.0 and/or inet6.0 on the route reflectors.
Add a static default route to inet.3 and/or inet6.3 on the route reflectors.

moow>

Correct Answer: ABE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 132
Click the Exhibit button.

Customer A rd ™ Customer A
GSPF_AIE‘H 0 e e OSPF Area

v

4
F

¥
s,

Referring to the exhibit, Customer A is complaining that no OSPF routes are being received across your Layer 3 VPN. You suspect that a problem exists with the
PE-CE protocol. The core network is operational. Which operational command on PE1 helps troubleshoot this problem?

show ospf neighbor
show bgp summary
show ospf neighbor instance customer-a
show bgp summary instance customer-a

Cow>
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 133
Click the Exhibit button.
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10 400.0/22

192,188,430
{RIF)

(ASBR)

Based on the topology shown in the exhibit, which two configuration statements must be applied on R2 so that it announces the 10.100/22 network to its OSPF
neighbors? (Choose two.)
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A. [edit policy-options policy-statement announce]
user@router# set teem 1 from route-filter 10.100.0.0/22 exact accept

B. [edit policy-options policy-statement announce]
user@router# set term 1 from 10.100.0.0/22 exact accept
C. [edif]
user@router# set protocols ospf export announce
D. [edit]
user@router# set protocols ospf area 0 export announce

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 134
Click the Exhibit button.
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[edit protocols mpls]

user@router# show

label-switched-path to-egress |
to 172.40.21.1;
primary path-one;
secondary path-two;

H

path path-one {
HETATAL L0 By E Rt

H

path path-two |
p i ol B O e

H

interface all;

interface fxp0.0 {
disable;

H

Based on the configuration shown in the exhibit, which two statements are correct? (Choose two.)

The secondary path is only signaled if the primary path fails.

The secondary path is signaled and in standby mode.

The LSP will revert back to the primary path when it becomes available.
The LSP will not revert back to the primary path until the session is cleared.

Sow>»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 135
Click the Exhibit button.
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'ﬂ L1

[ 5; R 13 RE@#
\, A

3

The IGP is IS-IS. R2 has configured its loopback interface in Level 2 only. Referring to the exhibit, which statement is true?

R2 advertises its loopback address to all L1 adjacencies.

R1 cannot reach R2's loopback address.

R1 uses a default route to reach R2's loopback address.

R1 automatically selects R2 as the default gateway to reach R2's loopback address.

o0

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 136
Click the Exhibit button.
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RZ R4

Ingress LSR Egress LSR
R1 RE/
R3 R&5
R1=19216211 [edit protocols mpls]
R2=192.168.1.2 userflR1f show
R3=1921621.3 no—-cpapt:
R4=192 16214 label-zwitched-path to-egress |
RE=1921621% to 17Z.40.100.10;
RG=192 16216 primary path-one;

’
path path-one {
192 .165.1.5 loose:
b
interface all:
interface fxp0.0
di=zabhle:;
h

Using the configuration and topology in the exhibit, which statement is true?

Each LSR randomly selects the physical path to reach the loose hop R5 for the LSP.

Each LSR uses the IGP to select the physical path to reach the loose hop on R5 for the LSP.
Each LSR selects the lowest next-hop IP address to reach the loose hop on R5 for the LSP.
Each LSR selects the highest next-hop IP address to reach the loose hop on R5 for the LSP.

o0

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 137
Click the Exhibit button.
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[edit]
root@R4# run show 1sis database
I3-I8 level 1 link-state datahase:

L3P ID Sequence Checksum Lifetime Attributes
Ed4.00-00 D=4 Oxe888 1154 L1 LZ
R3.00-00 O3 OxZoel 1150 L1 LZ
R3.0Z-00 02 Ozcd Gz 1150 L1 LZ

2 L3ps

I3-I8 level 2 link—-state databhase:

L3P ID Sequence Checksum Lifetime Attributes
R4 .00-00 D=5 Oxeevd 1154 L1 LZ
BE2.00-00 D=4 Oxedlf 1150 L1 LZ
R3.0Z-00 O3 D448 1151 L1 LZ

2 La3pbs
[edit]
root@R4H

Based on the output in the exhibit, which statement is correct?

A. R4 has been configured with an IS-IS export policy and is announcing external routing information.
B. R3 and R4 have an adjacency at both level 1 and level 2.

C. R3 has been configured so that it is not used for transit traffic.

D. R3 and R4 have only a level 2 adjacency.

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 138
Click the Exhibit button.

I;a" ! - "h._ll 4 F .\.
- _"'-.‘.-F B ..'\-!ll II|I"“'-l
P ~ re 1\
/ ISP A Rt I ne I 2
\ AS 65301 --:-'-_-----_i:--- . "*-,x
\ | (5) ﬁgz.u.z.wap (6) ¢ \
ﬁh h‘}‘. | ISF B \
i | I|
L AR ko AS 63502
. - Q‘-‘;E o I' i
i ORI P E N
TR : T Y |
[e#dit protocels bgpl K_‘ . J'I
userfRlf show c,;-.' /
group isp-b | i |/
type external; \ v
peer—as 65502; i, W, § 5
neighbor 192.0.2.6; TN P
neighbor 192.0.2.10; P, TR
}
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You work for ISP A, as shown in the exhibit, and must configure R1 to use load balancing across both available links for all routes to ISP B's network. You start by
configuring this policy:

policy-statement load-balance {

then {

load-balance per-packet;

}
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}

Which two commands do you use to finish the configuration? (Choose two.)

set protocols bgp group isp-b multihop
set routing-options forwarding-table export load-balance
set routing-options forwarding-table import load-balance
set protocols bgp group isp-b multipath

CSow>»

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 139
Click the Exhibit button.

root@R7# run show isis database extensive | find TLV

TLV=:
Area address: 492.0001 (3}
Speaks: IP
Speaks: IPVE
IP router id: 192.168.3.1
TP addre=asz: 192.168.3.1
Hosztname: R7T
TP prefix: 192.168.3.1/3EZ, Internal, Metric: default 0, Up
IF prefix: 10.10.10.0/24, Internal, Metric: default 10, Up
IF extended prefix: 192.168.3.1/32 metric 0 up
IP extended prefix: 10.10.10.0/24 metric 10 up

HNo gqueued transmissions

Based on the output shown in the exhibit, what does up signify?

A. Prefixes are up if the interface on the local router toward the destination is functioning correctly.
B. Prefixes are up if their unfragmented-packets value is flagged in the LSP.
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C. Prefixes are up if their LSP has not crossed an area boundary from level 2 to level 1.
Real 112
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D. Prefixes are up if their unusable-path value is flagged in the LSP.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Topic 3, Volume C

QUESTION 140
Click the Exhibit button.

AS 65432 AS 65221

T R RNy

A route is advertised from AS 65221 to AS 65432 using EBGP. The route is active and reachable on R3, but does not appear as an active route on R1 and R2. R3
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has an export policy applied to its IBGP group matching on routes from R4, but does not have a then criteria specified. Which policy action should router R3
configure to make this route visible on routers R1 and R2?

then next-hop self
then accept

then announce

then resolve-recursive

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 141
Click the Exhibit button.
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R4 RS

i

AS 65432 AS 65221

LR N N N N B N N J

R3 is announcing a route to R4 using EBGP, as shown in the exhibit. All routers in AS 65221 should learn this route, but it should not be announced to any other
AS. What can be done to enforce this behavior?

R3 should add the community no-export to the route prior to announcing it.
R3 should add the community no-advertise to the route prior to announcing it.
R4 should add the community no-announce after receiving the route.

R4 should add the community no-advertise after receiving the route.

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 142
Click the Exhibit button.
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interfaces {
ge-0/0/0 {
disakhle;
1

Real 114
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Which choice shows the configuration in the exhibit in SLAX format?
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Cow>»

C A

<interfaces> |
<interface> |
<name="ge-0/0/0"/>;
<dizabkle>;

T B. <interfaces>
<interface>
<name>ge-0/0/0</name>
<dizable/>
</interface>
</interfacess
" C.oanberfaces o
interface |
name "ge-0/0/0";
dizakle;
i
i
C D <interfaces> |
<interface> |
<name> "ge-0/0/0";
<dizakle>;
i
i
Option A
Option B
Option C
Option D
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 143

Real 115
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Click the Exhibit button.

Layer 2 VPN
sigmaling

Referring to the exhibit, which statement is true assuming LDP VPN signaling?

PE1 uses the label value received from PE2 for VPN B as the inner label for VPN B.

PE2 uses the label value received from PE1 for VPN A as the transport label for VPN A.

P1 uses the label value for VPN A advertised by PE1, because RSVP is enabled.

PEL1 uses the transport label value received for VPN A that is advertised by PE2 as the inner label for VPN A.

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 144
Which configuration excerpt will advertise all local IPv4 and IPv6 destinations to the network?
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A, prozozols |
cspf |
area O0.0.0.0 ¢
family —n=st |
interfaze all;
1
family -—n=té |
interfaze all;

}

E. protosola |
cspt {
export ip".rt’_-' rouktes;
area 0.0.0.0 ¢
tnber face all;

i

p2licy-options |
policy-stcatement ipvé-routes |
term get—ipwve |
trow tamily ineté;
ther acceat;

}

C. protoscls
cspf |
area 0.0.0.0 ¢
interface all:

1
captd |
area 0.0.0.0 ¢
interface all;
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Option A
Option B
Option C
Option D

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 145
Click the Exhibit button.
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[edit class—of-service]
user@router# show
zlassifiers |
dacp classifierd |
forwarding-<lass low-priority |
loss-priority low code-points 000000;
loss-priority high code-points 000001;
1
forwarding-<lass mediuww-priority
loss-priority low code-points 000010;
loss-priority high code-points 000011;
'
forwarding-<lass high-pricrcity |
loss-priority low code-points 000100;
loss-priority high code-points 000101;

forwarding-classes |
class low-priority gqueue-num 0;
class medium-priority gqueus-rmum 1;
class high-priority queus—num 2;
class NC gqueus-—num 3;

You manage an MX series router (with 100 ms buffer size per port) that includes the configuration shown in the exhibit. Traffic marked with DSCP 000011 is
entering the ge-1/0/4 interface at 102 Mbps. The traffic exits the device on the ge-1/0/5 interface. There is no other traffic transiting the router. What happens to
traffic exceeding 100 Mbps?

A. Traffic exceeding 100 Mbps is forwarded.
Real 118
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B. Traffic exceeding 100 Mbps is buffered.
C. Traffic exceeding 100 Mbps is redirected to a rate limiter.
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D. Traffic exceeding 100 Mbps is dropped.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 146
Click the Exhibit button.

AS 65420
Loopback |Ps
R1 = 2001:DBB:FAC1::A1

R2 = 2001:DB8:FACT A2
R3 = 2001:DBE:FACT1:-A3
R4 = 2001:DB8.FACT:AL
R5 = 2001:DB8:FAC1::AS

RS R4

All routers shown in the exhibit are BGP neighbors. R1 must be a route reflector, and R2 through R5 must be clients. R2 should only receive one copy of all routes
sent from R4.

Which configuration is valid?
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A, [edit protocols bgpl
root @R3# show
group AS&E5420 {
tyvpe reftlector;

local—-address 2001: dkE

neighbor Z2001:dbB5:
neighkbor 2Z001:dbE8:
neighbor 2001:dbE:
neighbor 2Z001:dbkA8:

T B. [edit protocols bgpl
root @R1# show
group ASE5420 {
type 1nternal;

local-addre=ss 2001: dk8

cluster 10.1.1.1;
no-client-reflect;
neighbor 2Z001:dbkE&:
heighbor Z2001:db&:
neighbor 2Z001:dbE:
neighbor 2001:db8:

}

™ 2. [edit proteocols bgpl

root @R3# show

group ASeL4:20 |
tvpe internal;
local-addres= 2001
cluster 10.1.1.1;
no-—client-reflect;
neighbor 2001:db8:
neighkbor 2001: dkA:
neighkbor 2001:dbS8:
neighbor 2001:dk8:

™ D, [edit protocols bgpl
roct@R1# show

facl:
fael:
facl:
facl:

1 dba

Taels
facl:
facl:
facl:

:ftacl:
Facils
tacl:
facl:
facl:

tal;
raz;
rad;
:ab;

:facl:

tad;
1a3d;
tad;
o

b =T el o

Sr= LS
=i
tad;
:ahb;

1 a3

L= A

ST
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A. Option A
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B. Option B
C. OptionC
D. Option D

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 147
Click the Exhibit button.

Cusames A

Customer A wants a Layer 3 VPN between their two sites. To support this, you purchase a carrier- of-carriers solution from ISP2. Referring to the topology in the
exhibit, how many labels does PE1 push onto data packets destined for PE2?

oOw>
W NP
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D. 4

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 148
Two of your customers have just merged into a single company. Because of time constraints, you have been asked to connect Customer A's BGP-signaled Layer 2
VPN with Customer B's LDP- signaled Layer 2 circuit using the interworking interface.

Which two statements are true? (Choose two).
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You must have a tunnel PIC to create the interworking interface.

You must configure the Layer 2 interworking protocol.

The logical interworking interfaces must specify their logical peer units.
The Junos OS automatically links the interworking interface units.

Cow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 149
In an interdomain multicast deployment scenario, RP1 is in AS1 and RP2 is in AS2. MSDP is configured between RP1 and RP2 A source in AS1 and a receiver in
AS2 have just become active. What initially triggers RP1 to send source-active messages (SAs) to RP2?

A join-to-RP message is sent from RP2 to RP1.

A join-to-source message is sent from RP2 to RP1
A register message is received on RP1.

A register message is received on RP2.

Cow>
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 150
Click the Exhibit button.
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[edit protocols mpls]

user@EBoston$# show

lakel-switched-path Boston-to-Seattle |
to 122.1658.10.100;
bandwidth &g;

priority 5 4;

label-switched-path BEoston-to-Denwver |
te 122.168.10.200;
bandwidth &q;

pricrity 4 4;

A network administrator has configured the LSPs shown in the exhibit on the ingress router of a 10-Gigabit Ethernet network

Which statement is true?

Both LSPs will establish and remain established.

The Boston-to-Denver LSP will establish and remain established.
The Boston-to-Seattle LSP will establish and remain established.
Neither LSP will remain established.

CSow>»
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 151

Real 123

Juniper JNO-660 Exam

What is the first step of the CSPF algorithm's pruning process?

Prune links with insufficient bandwidth.

Prune links that contain an excluded administrative group.
Prune links that do not contain an included administrative group.
Prune links that do not contain an administrative group.

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 152
You are configuring CoS schedulers on an M Series router. For some queues, you want to limit throughput to the configured transmit rate, and buffer excess traffic.

Which two transmission rate options can you use? (Choose two.)

exact
rate-limit
remainder
shaping-rate

CSow>»

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 153
You recently implemented an MSDP mesh group within your PIM-SM domain. Which two new behaviors can you expect? (Choose two.)

SA messages from peer ASs will now be received.

SA messages from group members will now require a peer-RPF check.

SA messages will no longer be forwarded to other members in the group.
SA messages from group members will no longer require a peer-RPF check.

Sow>»

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 154

Real 124
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A network uses IPv4 and IPv6 addressing. You must use only OSPFv3 as your IGP. Which configuration will advertise both IPv4 and IPv6 addresses to the
network?

Real 125
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&4 [edit]
uzerdroukteri zhow prctocols=
ozpt |
azea 0.0.0.,0

interfacsse all;

]
copfd |
az=a O0.0.0,0 ¢
inkterface all;

3. [ecit]
userfrouterf show prctocols
ospfd {
area O.C.0.0 {
family inet |
interface =12:
¥
familv inets |
interfacze =212;

i

[edit]
userfrouzerff zhow protoscls
o=pfs
sxpos-t ipvd-rouses;
srea O0.0.0.C

intcrfasc all;

[=dit]
userfrouser# show policy opt—ons
pulicy-s_alemenl _pyd-rocbes |
Lecm ygel-ipyvd |
trom |
family inet; http://www.gratisexam.com/
protocal ospf;
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Option A
Option B
Option C
Option D

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 155
Click the Exhibit button.
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[edit]
uzser@router# show class-ocf-service
schedulers {
top {
transmit-rate percent 40;
priority strict-high;
}
critical |
transmit-rate percent 25;
pricrity high;
1
less-<ritical |
transmit-rate percent 15;
priority medium-high;
H
data {
transmit-rate percent 10;
pricrity mediwn—1low;
1
best-effort {
transmit-rate percent 5;
priority low;

Traffic is flowing through an MX Series router. Traffic using the top and critical schedulers is out of profile, while all other traffic is currently in profile.
Referring to the exhibit, which two statements are correct? (Choose two.)
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The top queue is serviced before the best-effort queue.
The top queue is serviced after the best-effort queue.

The critical queue is serviced before the best-effort queue.
The critical queue is serviced after the best-effort queue.

Cow>»
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Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 156
Click the Exhibit button

ASES001

Source
19216810010 \ ASEB002

Receiwver

+‘;|224.T.?.T

Given the topology in the exhibit, which two requirements must be met to allow multicast traffic to flow from AS65001 to AS65002? (Choose two.)

A. MSDP sessions must exist between all routers in AS65001.

B. Source information must be relayed from AS65001 to AS65002.

C. A full mesh of MBGP peering sessions must be formed within AS65001.

D. A TCP session must be formed between the RPs in AS65001 andAS65002.

Correct Answer: BD
Section: (none)

http://www.gratisexam.com/



Explanation

Explanation/Reference:
Explanation:

QUESTION 157
Which statement is true regarding the no-propagate-ttl feature?
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A. Supported only by Junos devices
B. Configured on every LSR

C. Configured only on ingress LSR
D. Supported only on RSVP LSPs

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 158
Click the Exhibit button.
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Red

Blue
Boston Seattle

On the network shown in the exhibit, a network administrator is attempting to bring up an LSP between Boston and Seattle using administrative groups.
Which two of the following LSP configurations allow the LSP to establish? (Choose two.)
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A

Cow>

[edit protocols mpls label-switched-path Boston-to-Seattle]
user@Boston# show
to 192.168.10.100;
admin-group {
include-any White;
exclude Red;

[edit protocols mpls label-switched-path Boston-to-Seattle]
user@Bostonf show

to 192.168.10.100;

admin-group include-all [ Red White EBlue ];

[edit protocols mpls label-switched-path Boston-to-Seattle]
userBEBoston#t show
to 19Z2.1658.10.100;
admin-group {
include-any [ Red Elus ];
include-all Blue;

[edit protocols mpls label-switched-path Boston-to-8eattle]
userBBoston# show
to 192.168.10.100;
admin-group {
include-any FRed;
include-all EBlue;

Option A
Option B
Option C
Option D
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Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 159
Click the Exhibit button.
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-~ ~

In the exhibit, R1 is advertising a BGP route into both 1S-IS and OSPF. There is mutual redistribution from R1 and R2 into both OSPF and IS-IS.

The following traceroute is performed on R4:
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uzer@Rh4> traceroute 177.38.483.1 £l 10
(177.38.48.1),

2.690 ms=s

traceroute to
(e,

(67.
(67.
e
(67.
(67.
(67
(67.

R3
Rl
RE
R4
B3
Rl
RZ
B3
10 r1

o=l o e W

What is one way to fix the routing loop?
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(67

176.
17a.
176,
176.
176,
17a.
176,
174,
A7 5.

177.38.48.1
T
beh
109
Rl
REn
.13
107
Py
iy

o o o o o0 o oo o
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A OnR1:
[edit]

uzser@pkl# =set protocols bgp preference 145

B. OnRE1;
[edit]
userBR1# set protocols isis level 2 wide-metrics-only

. On R4
[edit]

userBR4# set protocols ospf external-preference 180

0. Cnall routers:

[edit]
userlrouter# set protocols ospf reference-bandwidth 10g

2.011 m=s
T.74%Z m=s

AEE
10.
16,
13.
16.
1z,
21

TZE
740
01z
Ta0
344
624
Z44

i0.
1z,
11.
13.
13.
11.
XBFn
19.

503
1z8
2523
34=2
373
528
223
124

10 hops max,
9.618 ms
6.200 ms

ms

ma

ma

13.
10.
1z,
13.
122,
Bk
Lo

24z
E32
soo
Zz0
ge3
a%a
T26

40 byte packets
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Option A
Option B
Option C
Option D

o0 wp

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 160
Click the Exhibit button

= —+Lavar 3 VPN

AS 65512

AS 65100 grmcri :
e!y EBGZP

You manage the network in the exhibit. Your customer contacts you and requests that OSPF traffic being routed between CE-2 and CE-3 use the VPN connection
instead of the direct

Real 132
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connection in its local network.

In addition to creating a sham link between PE-2 and PE-3, what step is required?
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Set the sham link remote metric to be lower than 8.
Set the sham link local metric to be lower than 8.
Set the sham link preference to be lower than 8.

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 161
Click the Exhibit button

Level 2

Level 1

Level 1

RS RE

Set the sham link interface metric to be lower than 8.

10,2008
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The 10.200/16 network is announced as an IS-IS route by R2 to its IS-IS neighbors. R3 and R4 are configured with an 1S-IS export policy, which announces this
route to R5 and R6.
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Which statement is true?

When viewed on R5 the 10.200/16 route will be marked down.
When viewed on R5 the 10.200/16 route will be marked up.
The 10.200/16 route will not be visible on R5.

The 10.200/16 route will be marked with the overload bit.

Sow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 162
What does an operation (op) script do?

Instructs the Junos OS to perform a set of actions whenever the script is run manually or called by another script
Instructs the Junos OS to perform a set of actions based on its location in the configuration.

Instructs the Junos OS to perform a set of actions during the process of activating configuration changes.
Instructs the Junos OS to perform a set of actions automatically based on operational status of the device.

Sow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 163
Click the Exhibit button.
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userfrouter> show route tab
inet.d: 17 destinmations, 17 routes (17
+ = RBctive Boute, — — Last Active, * =

24.0.0.5/32

3

userfirouter> show

OSPF databases,

oD

“[DSPF/ 10]

MiltiBecw

T databases

Brea 0.0.0.0

le inet.{ protocol ospt
active,
Both

lwZd 21:43:55, meiric

0 holddown,

¥ hidden)

Ck=um ILen
Omifde 413
Oxa3d4s 48
Oxa?33 T2
0x5537 48
CDxTasZ 40
Cksum ILen
DxdazZ 36
Duxelf £
DxdSae 36
Duxelfh 36
Pri [DCead
128 37
128 35
73 35
HNers
0
Cogt:s 1

Type ID Zidv Rtr Sag Lge Opt
Routexr 671V 2550 67.LPE.255.1 Ox800001Te 1138 GOx22
Routier GF AT 552 BT 176238512 OxBOOOOL51 FI31 O=m22
Rourex *pillye.2R53 BT . ET6.255.3 OxB000E52 IE3T Oxds
Eoutstr G ETe . 255,49 BT 2T 255.4 Bx8000016T 1338 OGx22
Network B67.176.10.2 SN G S o e OxB0000007 11328 0Ox22

OSPF &S SCOPE link =tdate database

Type IC Zdv Bizx Seq Zge Opt
Extern o, 2 e S 2 90 ¢ T 67 L BL25s Dx000013a 2118 DOx22
Extern gl 2 o5 e 2 SR T B 17 6. 205 OxBEOO001I3a 1624 0Ox22
Extern FEECL T H ST | S o e s S Oz 1 628 Ox32
Extern LT3R 128 37 o R B SR S Dx IET D22
userfrouter> show ospf neighbor
Zddress Titerface State IC
67 1TELE00 geE=3/0,8.0 Fizll 67 . ET 6 25554

FoITE.30.2 ge—D0/0/8.0 Fall T e T T e 5
G E.ER G ge-G/0/8.0 ExBtart O R T
userfrouter> show ospf interface ge-0/0/8.0 extensive
Interface State Area LR ID BLOR 1D
ge—0/0/8.0 BEToPE 0.0.0.0 0.0.8.0 0.

Type: PAME, Zddress: 67.176.10.4, Mask: 255.255.355.0, MITH: 1500
a5 ceunt: 2

Hellco: 10. Dead: 40, Be¥mit: 5, Net Btab

wath type: None

Protection type: Wone

Topolagy defauls- (I.Q) = Cogks I
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Based on the exhibit, why is the router not installing routes in the OSPF database into the routing table?

The neighbor is stuck in the ExStart state

The routes are going to a different table than inet.0
There is an interface type mismatch

There is an MTU mismatch

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 164
You are trying to establish an EBGP peering with a neighbor that is not in the same subnet.

What configuration parameter, when accompanied with a supporting import policy, can you use to resolve the issue and maintain multipath functionality?

A. multihop
B. accept-remote-nexthop

C. multipath
Real 135
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D. include-mp-next-hop

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 165
Click the Exhibit button
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LIVPN
. — e s . am,
/ \ ! \
/ \ / \
| OSPF { | 0SPF |
I Areal " Amea il
1 ' f
\ I \ I
\ / \ Y,
o - S— L. # L % P
f -
[ OsPF CE1l CEZ2
Amea 3
\ Y,
'\ -~
Sy w

In the exhibit, a working Layer 3 VPN exists between all routers. No OSPF domain IDs are configured or attached in advertisements.

What can be configured on the PE routers to allow the internal OSPF routes in Area 3 to show up as summary (Type 3) LSAs in CE2?

A. Assign a domain ID of 1.1.1.1 to all routes injected into the Layer 3 VPN on PE1.
B. The routes will show up as summary LSAs by default.

C. Configure PE2 to have a different domain ID than PE1.

D. Configure a sham link between PE1 and CEL1.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Real 136
Juniper JNO-660 Exam

http://www.gratisexam.com/



QUESTION 166
Your router is receiving four BGP route advertisements for the 192.168.100.0/24 network. By default, which route becomes active?

Route A, which is learned through EBGP with an AS path of 8001 and a MED of 175.
Route B, which is learned through IBGP with an AS path of 9900, a MED of 150, and an IGP cost of 15.
Route C, which is learned through IBGP with an AS path of 8001, a MED of 100, and an IGP cost of 10
Route D, which is learned through EBGP with an AS path of 9900 and a MED of 200.

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 167
Click the Exhibit button.
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e
-“' RIP %

F192.1660.0/24)
i H
F

In the exhibit, the RIP network 192.168.0.0/24 is redistributed into OSPF on R8

Which two statements are true? (Choose two.)

A. R4 receives the RIP network in a Type 7 LSA from R8.
Real 137
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B. R7 receives the RIP network in a Type 5 LSA from R4.
C. R2receives the RIP network in a Type 7 LSA from R4.
D. R3receives the RIP network in a Type 5 LSA from R4.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
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Explanation:

QUESTION 168
Click the Exhibit button.

R2

R1
Area lD49.0001 % % ArealDA 90002

The configuration excerpts shown below are applied to R1 and R2:

[edit protocols 1s1is]
user@Rl# show

level 2 disakle;
interface all;

[edit protocols isis]
user@REZHE show
interfacze all;

Based on the exhibit and the configurations above, what combination of IS-1S adjacencies are created between R1 and R2?

No adjacency is created
Both L1 and L2

L1 only

L2 only

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 169
Real 138
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In your network, customers are complaining about the performance of voice traffic.

Which command displays the number of packets dropped due to the drop profile configured?

show interfaces queue ge-1/0/0

show interfaces terse

show class-of-service interface ge-1/0/0
show class-of-service forwarding-class

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 170
You operate a Layer 3 VPN for multiple customers. To support advanced route filtering on your PE routers, you must advertise more than one BGP community on
advertised VPN routes to remote PE routers. Which routing-instance configuration parameter supports this requirement?

vrf-import
vrf-export
vrf-target import
vrf-target export

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 171
Click the Exhibit button.
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= == & Path 1
== = = Poth 2
- el POth 3

Fath 4

Ingress LSKE

N
Site 1%—

Network details
=All links are Fast Ethernet
=|GF metric for all paths are
the same
=Fercentages reflect total
bandwidth resened

You have an MPLS network and you have configured least-fill as your CSPF tiebreaker.

Using the information in the exhibit, which path will be used to signal a new LSP requiring 12 Mbps?

Path 1
Path 2
Path 3
Path 4

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 172
Which two LSA types are permitted in an OSPF stub area? (Choose two.)

Type 1
Type 2
Type 4
Type 5

Cow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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Stub areas can contain type 1, 2, and 3 LSAs. A default route is substituted for external routes.

QUESTION 173
You want to add a new OSPF area to your existing OSPF network; however, this area will not be directly connected to Area 0. Which feature would you use to
complete this task?

Routing policy
Not-so-stubby area
Virtual link

Type 10 LSA

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 174
Which neighbor state indicates that two BGP neighbors have full connectivity?
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Idle

Connect
Open Confirm
Established

Cow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 175
Which table is considered the MPLS routing table?

A. inet.0
B. inet.2
C. inet.3
D. inet6.0

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Real 141
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Explanation:

QUESTION 176
What are two elements that must be configured to enable LDP? (Choose two.)

A. Add the relevant interfaces under the [edit protocols Idp] hierarchy.

B. Add the relevant interfaces under the [edit protocols rsvp] hierarchy.

C. Add the family iso statement to the relevant interfaces under the [edit interfaces] hierarchy.
D. Add the family mpls statement to the relevant interfaces under the [edit interfaces]

Correct Answer: AD

http://www.gratisexam.com/



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 177
Which statement correctly describes the function of a policer?

It defines a set of parameters, including transmission rate, queue priority, delay buffers, and congestion management and avoidance.
It provides a first stage of congestion management by controlling the amount of traffic entering a device.

It writes a value into an outbound packet's CoS field according to the packet's forwarding class and loss priority.

It determines the amount of bandwidth allocated to a queue.

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 178
Refer to the exhibit.

user@R2> show ospf interface

Interface State Area DR ID BDRID Nbrs
ge-1/14.0 PtToPt 0.0.0.0 0.0.0.0 0.0.0.0 1
l00.2 DR 0.0.0.0 172.16.10.2 0.0.0.0 0
vl-192.168.1.2 PtToPt 0.0.0.0 0.0.0.0 0.0.0.0 1
Real 142
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What does 192.168.1.2 represent?

A. The address of the Area 0 virtual link
B. The address of the vitunnel interface
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C. The router ID of the local virtual ABR
D. The router ID of the remote router

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 179
What are three reasons an OSPF neighbor ship would be stuck in ExStart? (Choose three.)

The LSA database exchange is not yet completed.

There is an MTU mismatch between the OSPF routers.

There is an interface-type mismatch between the OSPF routers.
There is a unicast communication problem between the OSPF routers.
Both OSPF routers are using the same router ID.

moow»

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 180
Click the Exhibit button.
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user@router> show ospf database router lsa-id 20.0.0.2 detail area 0
OSPF database, Area 0.0.0.0
Type 1D Adv Rtr Seq Age Opt Cksum Len
Router  20.0.0.2 20.0.0.2 0x80000004 118 0x220xdh9 48
bits 0x3, link count 2
id 5.0.0.1, data 5.0.0.10, Type Transit (2)
Topology count: 0, Default metric: 65535
id 20.0.0.2, data 255.255.255.255, Type Stub (3)
Topology count: 0, Default metric: 0
Topology default (ID 0)
Type: Transit, Node ID: 5.0.0.1
Metric: 65535, Bidirectional

GRATIS

Free Practice Exams,

http://www.gratisexam.com/

Real 143
Juniper JNO-660 Exam
You are receiving the OSPF link state advertisement shown in the exhibit. What are two reasons for the displayed metric value? (Choose two.)

The neighboring router has the overload option configured.

The local router has the overload option configured.

The neighboring router has exceeded its configured prefix export limit.
The local router has exceeded its configured prefix import limit.

o0
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Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 181
You have an AS boundary router which is also an area border router with an NSSA attached.

Which two LSA types are exported into the NSSA by default? (Choose two.)

Type 3
Type 5
Type 7
Type 9

Sow>»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 182
Click the Exhibit button.
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[edit]
user@R1# show interfaces so-0/00
unit0{
family iret {
address 192.168.8.4530;
}

[adit]

usar@R1# show routing-options router-id

router id 10.255.0.1;

[edit]

us=r@R1# show protocols ospf

area 0.0.0.1 {
interface so-0040.0;

[edit]

user@R.2# show interfaces so-10/0

unit O {

tamily inet {

address 192.168.8.4530;

}
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You are creating an OSPF multiarea adjacency with a link between two ABRs.
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Referring to the exhibit, which configuration setting must be added to the routers to allow the second adjacency to form?

You must add the second area under [edit protocols ospf] and add a policy statement exporting the respective router-id into OSPF.

You must add the second area under [edit protocols ospf] and add a static route with the destination of the other ABR's router-id in the area.
You must add the second area under [edit protocols ospf] and configure the respective interface as secondary in the area.

You must add the second area under [edit protocols ospf] and add the respective interfaces

Sow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 183
Click the exhibit button.
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edit protocols ospf]
user@router# show
overload timeout 1800;
preference 25;
reference-bandwidth 1g;
area 0.0.0.0{

interface ge-1/42. {

metric 10;

priority 255;
}
interface ge-1/4/4. {
metric 15;
priority 100;
}
}
area 0.0.0.1{
interface xe-1/2/3.0 {
metric 12;
priority 125;
}
interface xe-1/2/1.0 {
metric 16:
priority 99;
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OSPF was configured 15 minutes ago and all databases are synchronizeD. However, the router is not receiving any transit traffiC.

What is a reason for this behavior?

The reference bandwidth has been set incorrectly.
The hold-time attribute is set too low.

The overload timeout threshold has not been reached.
The preference attribute has been set too high.

Sow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 184
Refer to the exhibit.

Real 148
Juniper JNO-660 Exam

http://www.gratisexam.com/



[edit]

user@router# show protocols isis
export tag-lo0;
traffic-engineering disable;

interface all;

[edit]
user@router# show policy-options
policy-statement tag-lo0 {

from interface [ 100.0 fe-00/1.0 fe-000/2.0 ]:

then {
tag 200;
accept;
!

You have configured your Junos device to tag routes; however, you are not seeing the routes being tagged. What is causing the problem?

A. You must configure the tagging on the physical interfaces, not on the loopback.
B. Route tagging does not work when 1S-IS traffic engineering is disabled.

C. You must import the policy into 1S-IS, not export it.

D. The policy-statement should have only a then tag 200; the acceptis accepting the route and ignoring the tag.

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 185
Real 149
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Refer to the exhibit.

[edit protocols isis]

user@router# show

interface so-0/0/0.0 {
level 2 disable;

}

interface fe-10/0.0;

interface fe-20/0.0 {

passive,;

You have implemented the 1S-IS configuration shown in the exhibit. Which two statements are true? (Choose two.)

An IS-IS adjacency can establish on the fe-2/1/0.0 interface.

The SONET interface configuration allows the sharing of only Level 2 routes.

The fe-1/0/0.0 interface configuration allows sharing of Level 1 and Level 2 routes.

The fe-2/0/0.0 interface configuration allows advertising of its IP address into the LSPs.

Cow>»

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 186
Refer to the exhibit.
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user@R1> show isis interface detail
1S-1S interface database:
ge-00/4.0
Index: , State: Ox6, Circuit id: Ox1, Circuit type: 2
LSP interval: 100 ms, CSNP interval: 10 s
Adjacency advertisement: Advertise
Level Adjacencies Priority Metric Hello (s) Hold (s) Designated Router
2 3 64 10 9.000 27 R2.02 (not us)
user@R2> show isis interface detail
IS-1S interface database:
ge-0/0/2.0
Index: , State: Ox6, Circuit id: Ox2, Circuit type: 2
LSP interval: 100 ms, CSNP interval: 10 s
Adjacency advertisement: Advertise
Level Adjacencies Priority Metric Hello (s) Hold (s) Designated Router
2 3 64 10 3.000 9 R2.02 (us)
user@R3> show isis interface detail
IS-1S interface database:
ge-00,/2.0
Index: , State: Ox6, Circuit id; Ox1, Circuit type: 2
LSP interval: 100 ms, CSNP interval: 10 s
Adjacency advertisement: Advertise
Level Adjacencies Priority Metric Hello (s) Hold (s) Designated Router
2 3 64 10 3.000 9 R2.02 (not us)



Referring to the exhibit, what are two reasons why R2 and R4 show a different hello interval than R1 and R3? (Choose two.)

R4 is the DIS.
R2 is the DIS.
R4 has explicit configuration to set the hello interval to 3 seconds.
R2 has explicit configuration to set the hello interval to 3 seconds.

CSow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 187
You want to use IS-IS on a GRE interface where the underlying Layer 3 MTU is 1500. Which statement is correct?
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A. IS-IS can be used because every IS-IS interface must be capable of transmitting packets at least as large as 1476 bytes, and the GRE header is 24 bytes.
B. IS-IS cannot be used because the IS-IS hello is not allowed to be fragmented and has the DF bit set.

C. IS-IS can be used, but the networking device directly attached to the circuit must be capable of fragmentation.

D. IS-IS cannot be used, but the router can enable a GRE key that serves the same function as IS-IS.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 188
How does a router use BGP to deflect a distributed denial-of-service attack against a prefix at all edge routers in the same AS?

A. It advertises the prefix with a local preference that is higher than any other node, and sets the next hop to a unicast route that has a discard next hop.
B. It advertises the prefix with a local preference that is higher than any other node and sets the next hop to self.
C. It advertises the prefix with a local preference that is lower than any other node and sets the next hop to a unicast route that has a discard next hop.
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D. It advertises the prefix with a local preference that is lower than any other node and sets the next hop to self.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 189
You are hired at an ISP and your new employer asks you to become familiar with the routing policy. The 42+.*[21112]$ regular expression is in one of the policies.
Which three AS paths match the regex statement? (Choose three.)

42 42 42 42 6

42 42 42 27 21
42 42 42 42 12
42 69 2112 112

42 69 212112
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moow»

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 190
You have an existing Layer 3 VPN connecting Site 1 and Site 2. Both CE devices are in the same autonomous system and are sharing routes with your PE devices
using EBGP. You must share routes between the sites.

Which BGP configuration parameter must you use?

Advertise-inactive
Remove-private
As-override
Multihop

Cow>
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 191
Which set of BGP attribute values is most preferred by the Junos OS?

A.

Origin?

Local Preference 1
AS Path2010321
Origin |

Local Preference 100
AS Path10321
Origin |

Local Preference 1
AS Path2010321
Origin E

Local Preference 100
AS Path10321
Real 153

Juniper JNO-660 Exam

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 192
Refer to the exhibit.
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[edit routing-options]
user@router# show

autonomous-system 1,'

[edit protocols]
user(@router# show
bgp {
group peer-AS2 {
type external;
export policy-1;
peer-as 2;
neighbor 10.10.10.2;

[edit policy-options]
user@router# show
policy-statement policy-1 {

then as-path-prepend "1 11 1%
}
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What is the expected result based on the configuration shown in the exhibit?

To discourage IBGP routers from using the path through 10.10.10.2
To encourage IBGP routers to use the path through 10.10.10.2
To discourage EBGP routers from using the path through 10.10.10.2
To encourage EBGP routers to use the path through 10.10.10.2

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 193
You are asked to set up a route reflection cluster for a group of IBGP peers that are fully meshed.

You want to only reflect routes that arrive outside the cluster to the IBGP peers.
Which route reflector configuration accomplishes this task?
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A.

[edit protocols bgp]

user@router# show

group int-peers {
type internal;
local-address 172.16.1.1;
cluster 172.16.1.1;
advertise-external;
neighbor 172.16.2.2;
neighbor 172.16.3.3;

B.

[edit protocals bgp]

user@router# show

group int-peers {
type internal;
local-address 172.16.1.1;
cluster 172.16.1.1;
export next-hop-self;
neighbor 172.16.2.2;
neighbor 172.16.3.3;

C.

[edit protocols bgp]

user@router# show

group int-peers {
type internal;
local-address 172.16.1.1;
cluster 172.16.1.1;
no-client-reflect;
neighbor 172.16.2.2;
neighbor 172.16.3.3;

D.

[edit protocols bgp]

user@router# show

group int-peers {
type internal;
local-address 172.16.1.1;
cluster 172.16.1.1;
damping;
neighbor 172.16.2.2;
neighbor 172.16.3.3;



Option A
Option B
Option C
Option D

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

Explanation:

QUESTION 194
Refer to the exhibit.
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user @roulerd show
chassis |
aggregated-devices {
ethernet {

device count 1;

)
}
interfaces
ga-00/0{
gigether-cptions {
A02 Jad ael,
]
}
ge-100 4
gigether-options {
202 3ad a=0;
1
}
ael |
unit 04
tamily inet {
oolicer {

input lmit-50m;
}
adldress 192 168 42 1430,

http://www.gratisexam.com/
lamily isu;
1
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What would explain why the policer is allowing 100 Mbps of traffic into the router?

The burst-size-limit is inappropriate for the bandwidth-limit and for the default MTU of the ge- */3# interfaces.
The policer is not using shared-bandwidth-policer, which it must to achieve a rate of 50 Mbps of traffic.

The policer is applied in the wrong direction.

The policer is not using logical-interface-policer, which it must to achieve a rate of 50 Mbps of traffic.

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 195
Refer to the exhibit.
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user@routerf show
class-of-sarvice {
scheduler-maps {
core {
forwarding-class best-effort scheduler be;
forwarding-class network-contrel scheduler nc;
forwarding-class expedited-forwarding scheduler ef;

forwarding-class assured-forwarding schedulzar af;

t
}
schedilers {
he {
transmit-rate percent 30;
buffer-size percent 30;
priority low;
}
nc {
transmit-rate percent 3;
buffer-size percent 3;
priority high;
}
ef {

transmit-rate {

percent 21;
im.com/
exact;



The core scheduler-map is assigned to fe-0/1/0.
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The following traffic is queued for transmission from fe-0/1/3:

- 40 Mbps of best-effort traffic

- 2 Mbps of network-control traffic

- 41 Mbps of expedited-forwarding traffic
- 30 Mbps of assured-forwarding traffic

Which queue uses the highest amount of interface bandwidth?

The best-effort queue

The expedited-forwarding queue
The network-control queue

The assured-forwarding queue

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 196
Refer to the exhibits.
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user@router> show class-of-service interface xe-00/8
Physical interface: xe-0/0/8, Index:
Queues supported: 8 Queues in use: 6

Scheduler map: <default>, Index: 2

Input scheduler map: <default>, Index: 2

Chassis scheduler map: <default>, Index: 4

Congestion-notification: Disabled

Logical interface: xe-0/0/8.0, Index: 88

Object Name Type
Rewrite exp-default exp (mpls-any)
Classifier exp-default exp
Classifier ipprec-compatibility ip
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user@router> show interfaces queue xe-0/0/8 egress | except " 0 bps| 0 pps”

Physical interface: xe-0/0/8, Enabled, Physical link is Up
Interface index: 166, SNMP ifindex: 567
Forwarding classes: 16 supported, 8 in use
Egress queues: 8 supported, 6 in use
Queue: 0, Forwarding classes: BE
Queued:
Packets : 8652949729
Transmitted:
Packets : 8652949729
Queue: 1, Forwarding classes: EF
Queued:
Queue: 2, Forwarding classes: AF
Queued:
Queue: 3, Forwarding classes: VOICE
Queued:

Queue: 6, Forwarding classes: DATA
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Queued:
Queue: 7, Forwarding classes: NC

Queued:

Packet Forwarding Engine Chassis Queues:
Queues: & supported, 6 in use
Queue: 0, Forwarding classes: BE
Queued:
Packets : 12524320315
Bytes : 576118744304
Transmitted:
Packets : 10246615526
Bytes : 471344324010
Tail-dropped packets : 2277704789
Queue: 1, Forwarding classes: EF
Queued:
Queue: 2, Forwarding classes: AF
Queued:
Queue: 3, Forwarding classes: VOICE
Queued:
Queue: 6, Forwarding classes: DATA
Queued:

Queue: 7, Forwarding classes: NC

Queued:

10566331 pps
3888410032 bps

9831972 pps
3618165696 bps

734359 pps



In the exhibits, what is the reason for the tail drops in queue 0?
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The interface cannot physically handle 3.37 Gbps of traffic.

The default network-control scheduler is taking bandwidth from the best-effort scheduler.

The default queue 0 scheduler does not allocate enough buffer size for 3.37 Gbps of traffic.
The default queue 0 scheduler does not allocate enough transmit rate for 3.37 Gbps of traffic.

Sow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 197
Refer to the exhibit.

Real 162
Juniper JNO-660 Exam

http://www.gratisexam.com/



[edit class-of-service]
user@router# show
schedulers {
best-effort {
transmit-rate percent 25;
buffer-size percent 25;
priority low;
}
assured-forwarding {
transmit-rate percent 25;
buffer-size percent 25;
priority high;
}
expedited-forwarding {
transmit-rate percent 25;
buffer-size percent 25;
priority high;
}
network-control {
transmit-rate percent 25;
buffer-size percent 25;

priority medium-high;
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Referring to the configuration shown in the exhibit, only the assured-forwarding queue exceeds its configured transmission rate. Given this scenario, in which order
will the queues be serviced?

A. Assured-forwarding, expedited-forwarding, network-control, best-effort
B. Assured-forwarding, network-control, expedited-forwarding, best-effort
C. Expedited-forwarding, best-effort, network-control, assured-forwarding
D. Expedited-forwarding, network-control, best-effort, assured-forwarding

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 198
In which configuration hierarchy must the hierarchical-scheduler parameter be applied to enable hierarchical scheduling?

A. [edit class-of-service]

B. [edit class-of-service <interface_name>]
C. [editinterfaces]

D. [edit interfaces <interface_name>]

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 199

You want to aggregate policing for different protocol families and different logical interfaces on the same physical interface. Which CoS configuration attribute will
accomplish this goal?

A. hierarchical policer
B. shared bandwidth policer
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C. physical interface policer
D. logical interface policer

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 200
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You have recently deployed PIM-SM in your network and must control some of the associated protocol exchanges.

Which three statements are true? (Choose three.)

Policy can be used to control outgoing register messages at the source RP.
Policy can be used to control outgoing register messages at the source DR.
Policy can be used to control incoming register messages at the RP.

Policy can be used to control incoming register messages at the DR.

Policy can be used to control incoming and outgoing join and prune messages.

moow»

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 201
Refer to the exhibit.
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user@router# show
routing-options {
multicast {

rpf-check-policy [ disable-from-group disable-from-source |;

}
policy-options {
policy-statement disable-from-group {
term first {
from {
route-filter 228.0.0.0/8 orlonger;

}
then reject;
}
}
policy-statement disable-from-source {
term first {
from {

source-address-filter 192.168.25.632 exact;
}

then reject;

+ = Active Route, - = Last Active, * = Both

0.0.0.00 *[BGP/170] 1w5d 22:33:28, localpref 100, from 192.168.177.7
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Multicast traffic from 192.168.25.6 to 228.0.0.0/8 is entering the router on xe-3ft)/0. Which statement is correct?

The reverse-path forwarding lookup will succeed without these policies because of a default route.
The traffic to 228.0.0.0/3 will be rejected.

The traffic from 192.168.25.6 will be rejected.

The reverse-path forwarding lookup will fail without these policies.

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 202
You are using the 224.2.0.0/16 multicast address range for SSM applications in your network. However, since you have deployed SSM in your network, SAP/SDP
application communications have not been functioning properly.

What must you do to allow the SSM and SAP/SDP applications to function properly?

Use the 232.0.0.0/3 address range for SAP/SDP applications.
Use the 232.0.0.0/B address range for SSM applications.

Use the 224.1.0.0/16 address range for SAP/SDP applications.
Use the 224.1.0.0/16 address range for SSM applications

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 203
You are asked to implement PIM-SM in your network, which consists of equipment from multiple vendors.

You must configure multiple RP discovery methods in this environment for redundancy purposes.
MSDP cannot be used.
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Which two statements are true? (Choose two.)

A. If you configure a static RP and auto-RP, auto-RP will be preferred and used by all routers.
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B. If you configure a static RP and a BSR, the BSR will be preferred and used by all routers.
C. Auto-RP can be used to provide RP failover and load sharing between the elected RPs.
D. The BSR can be used to provide RP failover and load sharing between the elected RPs.

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 204
You are asked to configure auto-RP as part of a new PIM sparse mode deployment in your network.

Which two configuration tasks are required? (Choose two.)

Configure MSDP peering sessions between all RP candidates.
Configure PIM sparse-dense mode on all interfaces.
Configure IGMP version 2 on all routers.

Configure the appropriate auto-RP role on all routers.

CSow>»

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 205
You want to enable PFE fast reroute for the MPLS nodes that are acting as bypass routers for multiple MPLS LSPs.

Which action must you take to facilitate this behavior?
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A. Apply a load balancing policy to the forwarding tables of the bypass routers.
B. Apply the RSVP fast reroute feature on the bypass routers.

C. Apply the MPLS link protection feature on the bypass routers.

D. Apply the RSVP load balance feature on the ingress and the bypass routers.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 206

You are setting up MPLS RSVP LSPs between R1 and R6 through your core network. You must ensure that R1 has redundant ERO paths. If the main path fails
and moves traffic to a second path, it should not switch back to the original path automatically. Which two actions will accomplish these requirements? (Choose
two.)

A. Create two secondary paths.

B. Create a primary path with a revert timer of O and create a secondary path.

C. Create two primary paths.

D. Create a primary path with the revert timer set to 255 and create a secondary path.

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 207
You are setting up MPLS RSVP LSPs between R1 and R6 through your core network. You must ensure that the R1 has redundant ERO paths. You must also
ensure that both paths are signaled and ready for traffic.

Which action will accomplish these requirements?

A. Create two primary paths.
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B. Create a primary path and create a secondary path.
C. Create a primary path and create a secondary path with the standby parameter.
D. Create a primary path and create a secondary path with the active parameter.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 208
You are deploying an MPLS network that uses traffic engineering. You are asked to formulate a plan to engineer LSPs and must identify configurable user inputs to
do this. Which three inputs would be used? (Choose three.)

A. Bandwidth requirement
B. Source prefix

C. Explicit route
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D. Protocol type
E. Administrative group

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 209
Which two statements are true regarding the CSPF algorithm? (Choose two.)

LSPs with higher numerical setup priorities are computed before LSPs with lower setup priority values.
LSPs with lower numerical setup priorities are computed before LSPs with higher setup priority values.
The selected path for a given LSP is passed to RSVP in the form of an ERO.

The selected path for a given LSP is passed to the TED in the form of an ERO.

Cow>

Correct Answer: BC
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 210
You want to ensure your multivendor MPLS core network does not decrease the TTL when using ping and traceroute from IP endpoints. Which configuration
parameter satisfies this requirement?

A. no-decrement-ttl, configured on all routers in the path
B. no-decrement-ttl, configured on the ingress router only
C. no-propagate-ttl, configured on all routers in the path
D. no-propagate-ttl, configured on the ingress router only

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

Topic 4, Volume D

QUESTION 211
You want to ensure that your all-Junos MPLS core network does not decrease the TTL when using ping and traceroute from IP endpoints. Which two configuration
parameters satisfy this requirement? (Choose two.)
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no-decrement-ttl, configured on all routers in the path
no-decrement-ttl, configured on the ingress router only
no-propagate-ttl, configured on all routers in the path
no-propagate-ttl, configured on the ingress router only

CSow>»

Correct Answer: BC
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 212
You have configured an MPLS LSP that includes defined hops. For this path, you want the MPLS label to be popped at the egress node.

Which configuration statement meets this requirement?

Set protocols rsvp explicit-null, configured on the ingress node
Set protocols mpls explicit-null, configured on the egress node
Set protocols mpls explicit-null, configured on the ingress node
Set protocols rsvp implicit-null, configured on the egress node

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 213
You are asked to provide Layer 3 VPN services to a new customer site. The site will connect to the Layer 3 VPN using a Layer 2 switch. Which two configuration
elements meet the requirement? (Choose two.)

vrf-table-label
vt interface
vrf-target
vrf-export

Sow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 214
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Refer to the exhibit.
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user@PE1> show route receive-protocol bgp 193.168.1.2

inet.0: 37 destinations, 37 routes (37 active, 0 holddown, 0 hidden)
inet.3: 1 destinations, 1 routes (1 active, 0 holddown, 0 hidden)
vpn-A.inet.0: 7 destinations, 8 routes (7 active, 0 holddown, 0 hidden)
mpls.0: 4 destinations, 4 routes (4 active, 0 holddown, 0 hidden)
user@PE1> show bgp summary

Groups: 2 Peers: 2 Down peers: 0

Table Tot Paths  Act Paths Suppressed History Damp State Pending
inet6.0
0 0 0 0 0 0
inet.0
0 0 0 0 0 0
Peer AS InPkt OutPkt OutQ  Flaps Last Up/Dwn
State |#Active/Received/Accepted/Damped...
10.0.10.2 65101 49 55 0 0 Establ
vpn-A.inet.0: 56/6/0
193.168.1.2 65512 15 16 0 0 Establ
inet.0;: 0000

You are implementing a Layer 3 VPN between Site 1 and Site 2. You notice that you are not sharing routes between PE1 and PE2. You have verified that MPLS
and RSVP are functioning correctly. Referring to the exhibit, what is causing the problem?
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The multihop feature is notenabled.

The next hop for the VPN routes is unusable.

The Layer 3 VPN NLRI has not been enabled on PE1.
The PE2 BGP session is restarting.

Cow>

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 215
You want to copy only OSPF prefixes from site.inet.0 to company.inet.0.
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[edit routing-options]
user@router# show
interface-routes {

rib-group inet site-to-company;

}
rib-groups {
site-to-company {
import-rib [ site.inet.0 company.inet.0 |;
import-policy site-to-company;
}
}
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What is the proper configuration syntax you must use to accomplish this task?
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fig
[edit]
user @ route# show policy-cotions policy-statement site-to-company
term ospf {
from pretocol ospf;

then accept;

]

term default |
then reject;

]

[edit routing-nptinns]
user i@ router# show
interfaca-raures |

rih-group inet sita-ta-campany;
]
rib groups {

site-to-company {

export-rib [ site.inet.U company.inet.0 |;

import-policy site-to-company;

F
'
B.
[edit]

user@ router# show policy-options policy-statement site-to-company
term ospf |

from protocol ospf,

then sccept;

] r.gratisexam.com/

term default {
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Option A
Option B
Option C
Option D

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 216
You are deploying a next-generation multicast VPN in your network and must identify which routers require tunnel services?

DRs closest to the receiver require tunnel services.
DRs closest to the source require tunnel services.
All MVPN PE routers require tunnel services.

All MVPN P routers require tunnel services.

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 217
Refer to the exhibit.
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[edit routing-instances vpn-a]
user@PE2# show
instance-type 12vpn;
interface ge-10/4.513;
interface ge-10/4.512
route-distinguisher 192.168.1.2:1;
vrf-import import-vpn-a;
vrf-export export-vpn-a;
protocols {
[2vpn {
encapsulation-type ethernet-vlan;
site ce-A {
site-identifier 2;
interface ge-10/4.512;
interface ge-100/4.513;

}

You have the Layer 2 VPN configuration shown in the exhibit. You have been asked to determine the remote site ID for ge-1/0/4.512. What is the remote site ID?
Al
B. 3
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C. 4
D. unspecified

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 218
You are asked to provision a BGP-signaled Layer 2 VPN for a new customer.

What information is required for the VPN routing instance that is connected to the CE device?

(Choose three.)

A. the logical interfaces provisioned to the local CE device
B. the logical interfaces provisioned to the remote PE device
C. the Layer 2 encapsulation type

D. the local site ID

E. the circuit identifier

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 219
You are configuring a Layer 2 circuit. Which two configuration steps are required? (Choose two.)

A. Configure LDP on the interfaces between PE and CE routers.
B. Configure circuit or translational cross-connects between PE routers and between PE and P routers.
C. Configure circuit or translational cross-connects between PE and CE routers.
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D. Configure LDP on the interfaces between PE routers and between PE and P routers.

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 220
You are asked to implement an LDP-signaled VPLS network for a new customer. Which two statements are correct regarding this implementation? (Choose two.)

A. A full mesh of LDP sessions between PEs must be configured.

B. The PE routers distribute VPLS to label mapping using MP-IBGP.
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C. The same NLRI as Layer 2 VPNs is used.
D. The PE router advertises a label for each remote PE configured.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 221
You are asked to deploy VPLS in your network as a new service for several customers and must identify the configuration and provisioning requirements. Which
two statements are correct? (Choose two.)

PE routers must include a VRF routing instance.

PE interfaces facing customers must have family VPLSconfigured.
PE routers must create a unique site ID for each CE device.

CE routers must be configured with their assigned route target.

Cow>»

Correct Answer: BC
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 222
Refer to the exhibit.
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user@router> show vpls connections instance vpls-3001
Layer-2 VPN connections:

Legend for connection status (5t)

El -- encapsulation invalid NC - interface encapsulation not CCC/TCC/VPLS
EM - encapsulation mismatch WE -- interface and instance encaps not same
VC-Dn -- Virtual circuit down NP -- interface hardware not present

CM - control-word mismatch -> — only outbound connection is up

CN -- circuit not provisioned <- - only inbound connection is up

OR — out of range Up — operational

OL - no outgoing label Dn -- down

LD - local site signaled down  CF - call admission control failure

RD -- remote site signaled down SC - local and remote site ID collision

LN -- local site not designated LM - local site ID not minimum designated

RN -- remote site not designated RM -- remote site 1D not minimum designated

XX —- unknown connection status  IL - no incoming label

MM - MTU mismatch M1 — Mesh-Group ID not available
BK -- Backup connection ST -- Standby connection

PF - Profile parse failure PB -- Profile busy

RS -- remote site standby SN -- Static Neighbor
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VM - VLAN ID mismatch
Legend for interface status
Up - operational
Dn - down
Instance: vpls-3001
Local site: son-821-3001 (821)

connection-site Type St Time last up # Up trans
30 rmt  OL
836 rmt  OL
891 rmt  OL
897 rmt  OL
960 rmt  OL
8802 rmt RN

user@router> show route table inet.3
inet.3: 1 destinations, 1 routes (1 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Active, * = Both
10.1.1.2/32 *[LDP/9] 00:06:31, metric 1
>t02.2.2.2 via fe-0/12.2
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In a newly configured VPLS network, you see the output shown in the exhibit. The remote PE is 10.1.1.2. What is the cause for the OL status?
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There is not a proper label-switched path to the remote PE, so there is no MPLS path to the remote PE.

The VPLS site identifiers are not contiguous, causing label block allocation to run out of labels.

The MPLS protocol family is not configured for interface fe-0/1/2.2, so the LDP adjacency is in an error state.
The remote PE is using the wrong route distinguisher, so the outgoing labels are incorrect.

Cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 223
Which configuration parameter would be used by a commit script to use custom syntax and simplify the configuration?

Apply-groups
Allow-transients
Direct-access
Apply-macro

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 224
Refer to exhibit.
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user@router# show interfaces ge-100

unit 0 {
family inet {
address 10.42.0.130;
}
family iso;
}

user@router# show system scripts
commit {

file forget-me-not.slax;

}

Referring to the script and configuration shown in the exhibit, what would be the output after committing the configuration?
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A,
[edit interfaces interface ge-1/0/0 unit 0]
warning: ge-10/0 does not have MPLS.
commit complete
B.
[edit interfaces interface ge-1/0/0 unit 0]
warning: You forgot something.
commit complete
.
[edit interfaces interface ge-1/0/0 unit 0]

warning: ge-10/0 does not have MPLS.
D.
[edit interfaces interface ge-1/0/0 unit 0]
warning: You forgot something.
commit complete
commit complete
A. Option A
B. Option B
C. OptionC
D. Option D

Correct Answer: C
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 225

Which two statements regarding OSPFv2 or OSPFv3 authentication are correct? (Choose two.)
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OSPFv2 supports MD5 authentication.
OSPFVv2 supports MD5 or SHA authentication.

CSow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 226
Refer to the exhibit.

OSPFV2 relies on the native security stack that uses IPsec.
OSPFv3 relies on the native security stack that uses IPsec.
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user@R2> show route 10.100.100.0
inet.0: 16 destinations, 16 routes (16 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Active, * = Both
10.100.100.0/24 *[OSPF/150] 00:04:14, metric 11, tag 112
>to0 10.10.10.1 via ge-00/0.0
user@R2> show ospf neighbor

Address Interface State D Pri Dead
10.10.10.1 ge-00/0.0 Full 1.1.1.1 128 30
10.10.11.2 ge-00/1.0 Full 4.44.4 128 31

user@R2> show ospf database |sa-id 10.100.100.0 extensive
OSPF AS SCOPE link state database
Type D Adv Rtr Seq Age Opt Cksum Len
Extern  10.100.100.0 1143 0x80000002 19 0x22 0x22be 36
mask 255.255.255.0

Topology default (1D 0)

Type: 1, Metric: 10, Fwd addr: 0.0.0.0, Tag: 0.0.0.112
Aging timer 00:59:41
Installed 00:00:18 ago, expires in 00:59:41, sent 00:00:18 ago
Last changed 00:00:18 ago, Change count: 2
Extern  10.100.100.0 4.4.4.4 0x80000003 12 0x22 0xf70d 36
mask 255.255.255.0
Topology default (1D 0)
Type: 2, Metric: 100, Fwd addr: 0.0.0.0, Tag: 0.0.0.100
Aging timer 00:59:48



In the exhibit, R2 is receiving the 10.100.100.0/24 prefix from R1 and R4. R1 uses the 1.1.1.1 router ID and R4 uses the 4.4.4.4 router ID to advertise the prefix to
R2.

Why is R2 preferring the version of the route that R1 is advertising?
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The version of the route that R4 is advertising has a higher metric value.

The version of the route that R4 is advertising has an external Type 2 LSA value.
The version of the route that R1 is advertising has a lower associated router ID value.
The version of the route that R1 is advertising has a lower age value.

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 227
Refer to the exhibit.
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user@router> show route receive-protocol rip 2.2.2.2
inet.0: 15 destinations, 15 routes (15 active, 0 holddown, 0 hidden)

+ = Active Route, - = Last Active, * = Both

50.50.0.0/26

50.50.1.0/24

50.50.2.0/24

50.50.3.0/25

50.50.4.0/25

50.50.4.128/25

50.50.5.0/26

50.50.5.64/26

50.50.5.128/26

*[RIP/100] 00:09:12, metric 2, tag 0
>to 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>to 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>t02.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag 0
>to 2.2.2.2 via fe-30,0.2
*[RIP/100] 00:32:24, metric 2, tag0
>to 2.2.2.2 via fe-30,0.2
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A.

[edit policy-options policy-statement RIP-redist]

user@router# show

term 1
from {
protocol rip;
route-filter 50.50.1.0/24 exact;
}
then accept;
¥
term 2{
from {
protocol rip;
route-filter 50.50.0.0/24 upto /27,
}
then reject;
¥
term 3{
from protocol rip;
then accept;
¥

B.

[edit policy-options policy-statement RIP-redist]

user@router# show
term 1/
from {

protocol rip;

route-filter 50.50.0.0/24 upto /27,

}

then reject;
}
term 2 {
from {
protocol rip;
route-filter 50.50.1.0/24 exact;

}

then accept;

}

term 3 {
from protocol rip;

then accept;
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C. D

[edit policy-options pclicy-statement RIP-redist] [edit policy-options policy-statemant RIM-redist]
user@router# show user@routerf show
term 14 term 1 {
from { from |
protocol rip; protocol rip;
route-filter 50.50.0.0/16 prefix-length-range 24-/26; roule-filter 50.50.1.0/24 exacl;
} }
then reject; then accept;
] 1
term 2 { term 2 {
from { from {
protocol rip; protocol rip;
route-filter 50.50.1.0/24 exact; route-filter 50.50.0.0/16 prefix-length-range /24-/26;
} }
then accept; then reject;
1 }
A. Option A
B. Option B
C. OptionC
D. Option D

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 228
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Refer to the exhibit.

user@router> show ospf neighbor brief

Address Intf State ID
192.168.158.103 ge-0/10 Full 10.250.240.35
192.168.158.115 ge-0/10 Full 10.250.240.9
192.168.158.123 ge-0/10 Full 10.250.240.31
10.1.1.126 ge-1/2/1 Full 10.250.240.10
10.1.1.125 ge-1/2/1 Full 10.250.240.7
10.1.2.10 ge-3/10 Full 10.250.240.3
10:1.2.51 ge-4/1/1 Full 10.250.240.5

Which statement is true?

OSPF neighbor 192.168.158.103 is least likely to be selected as the designated router.
OSPF neighbor 192.168.158.103 is most likely to be selected as the designated router.
OSPF neighbor 192.168.158.103 is ineligible to be selected as the designated router.

oo

Correct Answer: A
Section: (none)
Explanation
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OSPF neighbor 192.168.158.103 is second most likely to be selected as the designated router.

Pri
1
128
128
128
128
64
128

Dead
36
38
33
37
38
32
33



Explanation/Reference:
Explanation:

QUESTION 229
Which authentication method secures IS-IS hello, link-state, and sequence number PDUs?

A. Level authentication
B. Interface authentication
C. Area authentication
D. Domain authentication

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 230
Given the following regular expression:

(14203121870)
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Which two AS paths will match? (Choose two.)

1045814203

21870

10458 21870 21870
27522 14203 21870

CSow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 231
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Given the following regular expression:
*14203+(21870110458)

Which two AS paths match? (Choose two.)

27522 2187010458
27522 14203 14203 14203 21870
14203 21780 10458
14203 21780 27522

Sow>»

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 232
Which action is required for BGP confederations to function?

Remove the well-known private AS numbers.

Change the maximum number of times an AS can be in an AS path.
Replace the neighbor AS number with the local AS number.

Set the confederation autonomous system to include private AS number(s).

CSow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 233
Refer to the exhibit.
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[edit]
user@router# show protocols bgp
traceoptions {
file bgptrace files 5 world-readat
flag bfd;
}
log-updown;
group internal-peers {
type internal,
local-address 192.168.6.5;
export send-direct;
neighbor 192.163.6.4;
neighbor 192.168.40.4;

[edit]
user@router# show policy-options
policy-statement send-direct {
term 2 {
from protocol direct;

then accept;
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Your network engineer reported that they lost BGP connectivity to the neighbor 192.163.6.4 one hour ago, for five to ten minutes.

What are two ways to determine what happened? (Choose two.)

Run the show bgp neighbor orf 192.163.6.4 detail command.

View the information on the BGP monitoring station at 192.168.44.100.

Run the show log bgptrace command and search for the time of the lost connectivity.
Run the show log messages command and search for the time of the lost connectivity.

Sow>»

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 234
Refer to the exhibit.
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[edit class-of-service]

user@router# show

drop-profiles {

moderate-profile {

fill-level 15 drop-probability 25;
fill-level 45 drop-probability 50;
fill-level 80 drop-probability 75;
fill-level 95 drop-probahility 100;

Referring to the applied drop profile shown in the exhibit, if the buffer is 30 percent full, what is the probability of traffic being dropped?

A. 25 percent

B. 30 percent
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C. 50 percent

D. 75 percent

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 235

You have recently configured an aggregated Ethernet interface between two devices in your network. The member links do not all reside within the same PFE
complex. You must ensure that the bandwidth and burst size defined in a policer applied to this aggregated Ethernet interface are properly enforced when the traffic
falls out of profile.
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Which configuration parameter should you use?

committed-information-rate
committed-burst-size
shared-bandwidth-policer
physical-interface-policer

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 236
You have established an MSDP peering between multicast domains for your AS and a neighboring AS. You are concerned about unnecessary flooding or looping of
source active messages between MSDP peers. Which MSDP mechanism is used to prevent this problem?

The receiving MSDP peer performs a multicast RPF check to ensure that the SA messages are forwarded away from only the originating multicast source.
The receiving MSDP peer sends register-stop messages towards the originating RP that forwarded the SA messages.

The receiving MSDP peer performs amulticast peer-RPF check to ensure that the SA messages are forwarded away from only the originating RP.

The receiving MSDP peer sends prune messages to all upstream neighbors to avoid receiving additional SA messages.

CSow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 237
You have configured PIM dense mode on your network. One of your PIM-enabled routers is not in the path of the source-based tree between the source and the
receivers, and has no need for the multicast traffic. Which behavior would you expect from that router?

A. The router will send register stop messages to the RP.
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B. The router will send prune messages to its upstream router.
C. The router will send assert messages to the RP.
D. The router will send graft messages to its upstream router.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 238
You are asked to configure auto-RP as part of a new PIM sparse mode deployment in your network. Which two configuration tasks are required? (Choose two.)

A. All RP routers must be configured with the mapping auto-RP role.
B. All RP routers must be configured with the discovery auto-RP role.
C. All non-RP routers must be configured with the mapping auto-RP role.
D. All non-RP routers must be configured with the discovery auto-RP role.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 239
You are asked to mask your Junos MPLS core network from users that use traceroute. You have configuration privileges only on the ingress device. Which feature
will accomplish this task?

Egress-protection
No-propagate-ttl
No-record

No-decrement-ttl
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Cow>»

Correct Answer: D
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 240
You have recently deployed an MPLS network using CSPF with its default settings. Which statement is true regarding path selection when multiple candidate paths
exist?

The path selected will be based on the most-fill bandwidth ratio.
The path selected will be based on the least-fill bandwidth ratio.
The path selected will be based on a randomized algorithm.
The path selected will be based on the first-hop LSR's RID.

Sow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 241
You must add the 5.0.0.1 OSPF route to the inet.3 routing table for LSP resolution.

Which two configuration examples meet this requirement? (Choose two.)
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Option A
Option B
Option C
Option D

CSow>»

Correct Answer: AD
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 242
Refer to the exhibit.
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user@router# show routing-instances
VRF {
instance-type vif;
interface fe-1/2/3.0;
route-distinguisher 65535:1;
vrf-target target:65535:1;

user@router# run show route advertising-protocol bgp 4.4.4.4 extensive
VRFE.inet.0: 4 destinations, 4 routes (4 active, 0 holddown, 0 hidden)
*172.16.1.0/30 (1 entry, 1 announced)
BGP group RR type Internal

Route Distinguisher: 65535:1

BGP label allocation failure: Need a nexthop address on LAN

Nexthop: Not advertised

Flags: Nexthop Change

Localpref: 100

AS path: |

Communities: target:65535:1

What are two ways to resolve the error BGP label allocation failure: Need a next hop address on LAN? (Choose two.)

A. Configure a /32 static route with the next hop as itself to any remote address on the network assigned to the CE-facing interface.
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B. Resolve the MPLS issue between the PE routers.
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C. Configure a static ARP entry on fe-1/#3.0.
D. Configure vrf-table-label in the routing-instance.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 243
Which two statements describe the benefits of using point-to-multipoint LSPs in an environment with MVPNs? (Choose two.)

A. Performance levels within the LSPs can be guaranteed, regardless of the signaling protocol used.
B. A service provider network does not need to run PIM to support multicast routing.

C. Data replication can be done by downstream LSRs and not just by the ingress PE router.

D. Multicast traffic can be protected, regardless of the signaling protocol used.

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 244
What are two requirements of Layer 2 VPN BGP route reflectors? (Choose two.)

Routes are kept in the bgp.l12vpn.0 table.

Route reflectors must support the 12vpn family.
Route reflectors must support the inet-vpn family.
Routes are kept in the inet.2 table.

Cow>»

Correct Answer: AB
Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 245
What must you do to use the Layer 2 interworking interface to connect a BGP Layer 2 VPN with an LDP Layer 2 circuit? (Choose two.)

A. You must configure a policy importing the bgp.I2vpn.O routing table into the inet.0 routing table.
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B. You must enable the I2iw protocol.
C. You must have a Tunnel Services PIC installed to used the L2 interworking interface.
D. You must include the iw0 statement under the [edit interfaces] hierarchy.

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 246
You are asked to implement a BGP-signaled VPLS network for a new customer. Which two statements are correct regarding this implementation? (Choose two.)

A. A full mesh of LDP sessions between PEs must be configured.

B. The PE routers distribute VPLS-to-label mapping using MP-IBGP.

C. These MP-BGP sessions must be configured to support the 12vpn signaling address family.
D. These MP-BGP sessions must be configured to support the inet-vpn signaling address family.

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 247
Refer to the exhibit.
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[edit system scripts commit]
user@R1# show
file script.slax {

source scp://2.2.2.2/etc/script.slax;
}

The configuration shown in the exhibit displays a configuration for a commit script. However, you are unable to automatically retrieve the script from the remote
server.

How do you retrieve the commit script from a different remote server without adding to the configuration?
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A. Use the refresh-from feature.

B. Use the refresh feature.

C. Issue the direct-access feature.
D. Use the allow-transients feature.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 248
You are deploying OSPFv2 and OSPFv3 in your network. You must enable authentication to secure OSPF communication.

Which authentication method is supported?

MD5
Simple
IPsec
RSA

Cow>
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 249
You are asked to provide redundancy to avoid a single point of failure for your route reflector cluster groups.

Which action will accomplish this task?

Configure unique cluster IDs for each client within a route reflector cluster group.
Configure two route reflectors for each route reflector cluster group.

Configure a full IBGP peer mesh between clients within the route reflector cluster group.
Configure the no-client-reflect parameter on the route reflector.

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 250
You have a Layer 3 VPN established between Site 1 and Site 2. You are asked to limit the number of OSPF routes that the PE devices will accept from the CEs.

Which statement is correct?

You should use the prefix-limit feature to limit the number of accepted routes.

You should use the allow feature to limit the accepted routes.

You should use the route-target filtering feature to limit the accepted routes.

You should use the maximum-prefixes feature to limit the number of accepted routes.

CSow>»

Correct Answer: D
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 251
How would you copy the BGP prefix 192.168.42.0/24 from VRF-A.inet.0 to VRF-B.inet.0?

Use a VRF import policy on the destination VRF to match the desired prefix.

Use an import policy on the BGP neighbor configured with family inet-vpn to add a target community that VRF-B imports.
Use a VRF export policy in VRF-A to copy the route from the source VRF to the destination VRF.

Use a RIB group policy to copy the route from the bgp.I3vpn.0 table to the VRF-B.inet.0 table.

Sow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 252
You are asked to share a customer's routes between two separate Layer 3 VPNs. The VPNs must remain separate. None of the shared routes should be sent to
the remote PE devices.

Which two configuration elements are used to meet these requirements? (Choose two.)
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A. auto-export
B. export-rib
C. [edit policy-options policy-statement vpnb-export]
user@router# show
term 1{
from {
protocol bgp;
interface ge-0/0/1.0;

then {
community add vpnb-target;
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accept;
}
}

term 2 {
then reject;
}
D. [edit policy-options policy-statement vpnb-export]
user@router# show
term 1 {
from {
protocol bgp;
interface ge-0/0/1.0;

then {
community add vpnb-target;
accept;

}
}

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 253
- Exhibit

[edit protocols ospf area 0.0.0.2]
user@router# show

area-range 0.0.0.0/1 restrict;
interface ge-0/0/1.0;
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-- Exhibit --

Click the Exhibit button.
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You have an OSPF area configured as shown in the exhibit.

Which two statements are true? (Choose two.)

The 30.0.0.0/8 prefix will not be advertised to Area 0 as a Type 3 LSA.
The 200.0.0.0/8 prefix will not be advertised to Area 0 as a Type 3 LSA.
To be effective, the configuration must be used on an ASBR router.

To be effective, the configuration must be used on an ABR router.

CSow>»

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 254
-- Exhibit
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-- Exhibit --
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Click the Exhibit button.

In the exhibit, you must configure an OSPF virtual link between R2 and R3 to facilitate communication between Area 0 and Area 2.

Which two addresses should you use as the neighbor IDs of the virtual link endpoints? (Choose two.)

The address that is associated with R2's router ID.
The address that is associated with R2's ge-0/0/0 interface.
The address that is associated with R3's router ID.
The address that is associated with R3's ge-0/0/1 interface.

CSow>

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 255
-- Exhibit
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[edit protocols azpi]
ugsetBREZE show
area 0.0.0.1 {
nssa |
default-1lsa |
defaul t=metrics 10;
type-T7;
i
no-Sunmaries;

)
interface ge-0/0/1.0;

I
area 0.0.0.0 ¢

virtual=link neighbor=id 3.3.3.3 transit-area 0.0.0.1;
interface ge—0/0/0.0;

-- Exhibit --
Click the Exhibit button.
In the exhibit, an OSPF virtual link is established between R2 and R3. However, R4 cannot reach any external destinations.

What must you do you allow R4 to reach external destinations?

A. Area 1 must be configured as a stub area.
B. Area 1 must be configured as a standard OSPF area.
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C. Area 1 must be configured to use the Type 3 LSAs as the default LSA.
D. The virtual link must be configured under Area 1.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 256
- Exhibit --

user@router> show route receive-protocol rip 2.2.2.2
inet.0: 15 destinations, 15 routes (15 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Active, * = Both
50.50.0.0/26 *[RIP/100] 00:09:12, metric 2, tag 0

> 10 2.2.2.2 via fe-3/0/0.2

50.50.1.0/24 *[RIP/100] 00:32:24, metric 2, tag 0

> 10 2.2.2.2 via fe-3/0/0.2

50.50.2.0/24 *[RIP/100] 00:32:24, metric 2, tag 0

> 10 2.2.2.2 via fe-3/0/0.2

50.50.3.0/25 *[RIP/100] 00:32:24, metric 2, tag 0

> 10 2.2.2.2 via fe-3/0/0.2

50.50.4.0/25 *[RIP/100] 00:32:24, metric 2, tag 0

> t0 2.2.2.2 via fe-3/0/0.2
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50.50.4.128/25 *[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-3/0/0.2

50.50.5.0/26 *[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-3/0/0.2

50.50.5.64/26 *[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-3/0/0.2

50.50.5.128/26 *[RIP/100] 00:32:24, metric 2, tag 0
>t0 2.2.2.2 via fe-3/0/0.2
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-- Exhibit --

Click on the Exhibit button.

Referring to the exhibit, how should an export policy be configured to export only the 50.50.1.0/24 RIP summary route into OSPF?

A. [edit policy-options policy-statement RIP-redist]
user@router# show
term 1{
from {
protocol rip;
route-filter 50.50.1.0/24 exact;
}

then accept;

}

term 2 {

from {

protocol rip;

route-filter 50.50.0.0/24 upto /27;
}

then reject;

}

term 3 {
from protocol rip;
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then accept;

}

. [edit policy-options policy-statement RIP-redist]
user@router# show

term 1 {

from {

protocol rip;

route-filter 50.50.0.0/24 upto /27;

}

then reject;

}

term 2 {

from {

protocol rip;

route-filter 50.50.1.0/24 exact;
}

then accept;

}

term 3 {
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from protocol rip;

then accept;

}

. [edit policy-options policy-statement RIP-redist]
user@router# show

term 1 {

from {

protocol rip;

route-filter 50.50.0.0/16 prefix-length-range /24-/26; }
then reject;

}

term 2 {

from {

protocol rip;

route-filter 50.50.1.0/24 exact;
}

then accept;

}

. [edit policy-options policy-statement RIP-redist]
user@router# show
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term 1{

from {

protocol rip;

route-filter 50.50.1.0/24 exact;
}

then accept;

term 2 {

from {

protocol rip;

route-filter 50.50.0.0/16 prefix-length-range /24-/26; }
then reject;

}

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 257
-- Exhibit
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-- Exhibit --
Click the Exhibit button.

Each router in the exhibit is receiving three copies of the same IS-IS LSP from the other three routers in the topology. The additional copies of the IS-IS LSPs are
causing additional processing overhead on each router. You want to reduce the overhead required to process the additional copies of the same IS-IS LSP.

Which feature accomplishes this task?

Configure traffic engineering.
Configure mesh groups.
Lower the CSNP interval.
Increase the SPF delay.

CSow>»

Correct Answer: B
Section: (none)
Explanation
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Explanation/Reference:
Explanation:
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QUESTION 258
-- Exhibit

[edit pretocols lsis]
useri@®l# show

level ? wide-metrics=-only;
interface all;

[edit protocols isis]
useriR24 show

level 2 wide-metrics-only;
lewvel 1 wide-metrics-only;
interface all;

[edit protocols isis]
userfR3# show
export 10.100.100.0/24;
level 1 wide-metrdes-only:
interface all {

level 2 disable;

;
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-- Exhibit --
Click the Exhibit button.

The exhibit displays an 1S-IS topology and I1S-1S configuration for R1, R2, and R3. R3 is redistributing the 10.100.100.0/24 route into I1S-IS as an external IS-I1S
route. However, the 10.100.100.0/24 route is automatically being leaked into Area 49.2222.

How do you stop the automatic route leaking of the 10.100.100.0/24 prefix?
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Remove the level 1 wide-metrics-only statement from R3.
Remove the level 1 wide-metrics-only statement from R2.
Remove the level 2 wide-metrics-only statement from R2.
Remove the level 2 wide-metrics-only statement from R1.

CSow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 259
-- Exhibit
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Aread49.1111
R1

Level 1

[edit protocols isas]
ugerBR3I¥ show
no-edjacency-holddown;
overload timeout 1200;
level 2 wide-metrics-only;
interface all;

[edit protocols isig]
userBR4¥ show
ignore-attached-hit;
overloacd;
level 1 authentication-kKey "$25UgDRESTI 9p'';
ABECRET-DATA
interface all {

level 2 disable;
]

-- Exhibit --
Click the Exhibit button.

The exhibit displays an 1S-IS topology and an 1S-IS configuration for R3 and R4. R4 cannot reach any external destinations or addresses located in Area 49.1111.
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How would you ensure that R4 can reach external destinations and addresses located in area 49.1111?
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Configure an export policy on R3 that leaks all IS-IS routes from Level 2 to Level 1.
Configure R3's authentication key to match R4's authentication key.

Remove the overload statement on R4.

Remove the ignore-attached-bit statement on R4.

Cow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 260
-- Exhibit
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Area 492222

Level 1

[edit] [edit]
userdnl¥ show interfecea Lol ugser@rZ¥ show interfaces Lol
unit 0 [ unit O
family inet | family inet |
address 1.1.1.1/32; address 2.2.2.2/32;
) 1
family imo | family i=ao |
address 49,1111.0001.000L.0011.00; address 4£2,2222.0002,.0002.0022.00;
J }
| H
[edit] [adit]
rootABl# show protocols isias root@ERE2$ show protocols is=is
interfece all | interface allg

level 2 dissbhle:
}

-- Exhibit --

Click the Exhibit button.

The exhibit displays an 1S-IS topology and I1S-1S-related outputs for R1 and R2. The IS-IS adjacencies between R2 and R3 are in the Up state, but the IS-IS
adjacency between R1 and R2
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does not attempt to form.
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Which two actions will ensure that all IS-IS adjacencies (R1 to R2 and R2 to R3) reach and stay in the Up state? (Choose two.)

Change the area ID on R2 to 49.1111.
Enable Level 2 operations for all of R1's interfaces.
Enable Level 1 operations for all of R2's interfaces.
Change the selector value on R1 to 01.

CSow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 261
-- Exhibit
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Area 49.22272

uasrdnd> ahow configuestion protosol=s isis sxport
expork leak;

u2es@R3> zhaw configursbion policy-opticns
polioy-statoment leoaok |
tarm 1 |
trom {
protocel isis;
level 1;
route—filter 192.168.1&8.0/24 exscr;
)
o Level Z;
then acocepts

Level 1

Area 49.1111 }

userBR3> show 1sis database RL.00-00 detail
Ig-I5 level L link-atate databaze:

Al.00-00 Reguence: OxEb, Chockoum: OxPlef, Lifetime: &70 secs

I8 neaghbor: RL.02 Metric: 10

IP prefis) 1.1.1.1/32 Mobriot 0 Inteznal Up
IP prefix: 2.2.2.2/32 Tebria: il Internal Down
Ip prefiw: 10.30.10.0/30 Merria: 10 Inmeernal Up
IP prefix: 10.10.10.4/30 Mebric: 10 Tntermal Up
IP prefax: 172.16.31.0/24 Meotric: 10 Intermal Up
IP prefix: 192.168.16.0/24 Tebria: 10 External Down

Ia=T8 level 2 link=-state datsbaze:
-- Exhibit --
Click the Exhibit button.
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In the exhibit, R2 is receiving external routing information for the 192.168.16.0/24 prefix and is redistributing it into 1S-IS. R1 has a policy that leaks the
192.168.16.0/24 route into Area 49.1111. R3 has a policy that leaks the 192.168.16.0/24 route into Area 49.2222. However, the 1S-IS version of the route does not
appear in R2's routing table.

Why does R3's route leaking policy appear not to be working?

The Up/Down hit is set to down for the prefix.

The external flag is set for the prefix.

You can only leak routes from Level 2 to Level 1.

R2 already has better routing information for the prefix.

Sow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 262

-- Exhibit
e AS 2 :
Router 1D | .
mor e )
MED=120 192.168.13.0/24 advertised
fram all three routers
Router ID AS 3 Router D
1114 sass 2 -
-- Exhibit --
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Click the Exhibit button.
You administer the network shown in the exhibit. Routers R1, R3, and R4 are sending the same
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prefix to R2. All routers are using default local-preference values. You must make the prefix from R4 the most preferred.

Which two actions accomplish the task? (Choose two.)

Configure as-path-prepend on R1 and R3.
Configure local-preference 10 on R4.
Configure router-id 4.4.4.4 on R4.
Configure always-compare-med on R2.

CSow>

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 263
-- Exhibit
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uzaerfRi> show routs advertising—pratacal bgp 172.22.0.1
veerfR3ir show route 200.100.0.0/16 e=rpas

inet.0: 14 destinations, 1% routes (14 active, 0 holddown, 0 hidden)

+ = Aetive Heuts, — = Laat Astive, * = Bath
A Deatimation P Prf Metric 1 Metric 2 HNext hop 23 path
“ Z00.100.0.0/24 I 165 i} >172.24.0.2

B 170 100 F1T72.24.0.2 I
+ 200.100.1.0/24 I 1&5 o »1T2.24.0.2

B 170 100 >172.24.0.2 I
< Z00.100.2.0/24 I 1&5 i] *=1T72.24.0.2

B 170 100 >17T2.24.0.2 I
+ Z00.100.3.0/24 I 15 0 >172.24.0.2

B 170 100 *1T72.24.0.2 I
+ 200.100.4.0/24 I 1&5 o 172,24 0.2

B 170 100 >172.24.0.2 I

-- Exhibit --

Click the Exhibit button.

Referring to the exhibit, you must advertise the 200.100.0.0/16 routes from Site 2 to Site 1, but R3
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is not currently advertising any BGP routes to R2.

Why is this happening?

A. The IBGP routes are not active and EBGP will advertise only active routes.
B. The IBGP routes are not active because the next hop is not reachable.
C. The IBGP routes will not be advertised because the AS path shows incomplete.
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D. The IBGP routes will not be advertised because you must use a policy to advertise IBGP routes.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 264
- Exhibit
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-- Exhibit --

Click the Exhibit button.

Referring to the exhibit, routers R1 through R5 exist in a fully-meshed IBGP group. You want the
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routes received through EBGP on R1 to be advertised to the EBGP peer connected to R5. You want the routes received through EBGP on R5 to be installed on R1;

however, you do not want the those routes to be advertised to the EBGP peer connected to R1.

Which two actions will accomplish this task? (Choose two.)
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Implement an export policy on R5 to add the well-known no-export community to the EBGP routes.
Implement an export policy on R5 to add the well-known no-advertise community to the EBGP routes.
Implement a route reflector group and configure the no-client-reflect parameter on the route reflector.
Implement an import policy on R1 to add the well-known no-export community to the EBGP routes.

CSow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 265
-- Exhibit
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-- Exhibit --

Click the Exhibit button.
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The Client 1 router forwards a route learned from its EBGP peer to the route reflector RR1. The route reflector forwards the route to the Client 2 router. However,
the Client 2 router uses suboptimal routing to reach the EBGP route destination.

What would cause this behavior?
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The route reflector becomes the default forwarding path for packets sent from Client 2 towards the EBGP route destination.
The route reflector is using the no-client-reflect parameter.

The route reflector has a next-hop self policy for EBGP-learned routes.

The route reflector is applying the originator ID attribute to the route.

Cow>

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 266
-- Exhibit

AS1111 [
A1 @M. MED=50

F

A2 | '

T_MED=100 |
A3 S/ :

-- Exhibit --
Click the Exhibit button.

You are the administrator for AS 1111 and you want to inform the neighboring AS to use router A2 as the ingress path into your local AS.
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Referring to the exhibit, which policy statement action for the export policy on A2 will perform this task?

A. set policy-options policy-statement export term 10 then metric 120
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B. set policy-options policy-statement export term 10 then external
C. set policy-options policy-statement export term 10 then metric 25
D. set policy-options policy-statement export term 10 then priority low

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 267
- Exhibit
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userBR1l> show route protocel bgp terse active-path
inet.0: 2 destinations, 14 routes (2 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Actiwve, * = Both
A Destination P Prf Metric 1 Metric 2 MNWext hop A% path
*= 10.42.77.0/30 B 170 100 »>192.168.42.2 251
192.1668.77.2
* 10.42.77.4/30 B 170 1oo 192.168.42.2 2 I
>192.168.77.2
* 10.42.77.8/30 B 170 o0 192.168.42.2 21
~le2.168.77.2
* 10.42.77.12/30 B 170 o0 192.166,42.2 21
»>192,.16B.77.2
* 10,42.77.16/30 B 170 1on 192.168.42.2 2 I
»192,.168.77.2
-- Exhibit --

Click the Exhibit button.

Real 218
Juniper JNO-660 Exam

Which configuration parameter would create a routing table as shown in the exhibit?
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routing-options forwarding-table export load-balance-policy
multipath

protocols bgp export load-balance-policy

multihop

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 268

-- Exhibit
C1 PEL1 PE2 C2
il
ze-1/0/8.0 . ge-1/0/5.0
ge-1/1/170 % ge-1/1/5.0
10.1.1.0/24 10.2.2.0/24
CoS Domain

-- Exhibit --

Click the Exhibit button.

Referring to the exhibit, you must ensure that all traffic sourced from C1 and destined to C2 is associated with the expedited forwarding class. Also, you must
ensure that all other traffic not sourced from C1 is not impacted by the identified modification.

Which method should you use?

A. Use an input behavior aggregate classifier on ge-1/0/8.0 that matches source address 10.1.1.0/24.
B. Use an output behavior aggregate classifier on ge-1/1/17.0 that matches destination address 10.2.2.0/24.
C. Use an input multifield classifier on ge-1/0/8.0 that matches source address 10.1.1.0/24.
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D. Use an output multifield classifier on ge-1/1/17.0 that matches destination address 10.2.2.0/24.
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 269
-- Exhibit

LSP1: 20 Mbps; Pricrity 00

'$ LS-F‘E": 20 Ml:lps;.P'rLunt!,r 54 %\‘ .’ Router B
- %

%LSF’S: 20 Mbps; Priority 2 1 P

.‘%LSM: 20 Mbps; Priority 7 7 % -

Router A

<-"
4 ~

-- Exhibit --

Click the Exhibit button.

Your network has multiple LSPs between Router A and Router B, as shown in the exhibit. You add a new LSP between these routers with the following parameters:
LSP5: 20 Mbps; Priority 4 3

Assuming no link has 20 Mbps available, which LSP will be preempted by LSP5?

A. LSP1
B. LSP2
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C. LSP3
D. LSP4

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 270
- Exhibit

L5P1: 20 Mbps; Priority 00

LSPE 20 Mbps, Priority 2 2
L @R @)
b ~ $2F3_?DM_hps_Prum]w34 % - ‘
._“
.$ LSP4: 20 Mbps; Priority 7 7 % o
s EEEBENAEREEEAEEEEEE .

Router A Router B

-- Exhibit --

Click the Exhibit button.

Your network has multiple LSPs between Router A and Router B, as shown in the exhibit. You add a new LSP between these routers with the following parameters:
LSP5: 20 Mbps; Priority 2 2

Assuming no link has 20 Mbps available, which LSPs are candidates for preemption by LSP5? (Choose two.)
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LSP1
LSP2
LSP3
LSP4

Cow>

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 271

- Exhibit
R1 R2 R3 R4
- Exhibit --

Click the Exhibit button.
You have an established RSVP LSP from R1 to R4. As shown in the exhibit, you experience a link failure between R2 and R3.

Which two statements are correct? (Choose two.)

R2 will send a PathTear message upstream to R1, indicating a failure has occurred.
R3 will send a PathTear message downstream to R4, indicating a failure has occurred.
R3 will send a ResvTear message downstream to R4, indicating a failure has occurred.
R2 will send a ResvTear message upstream to R1, indicating a failure has occurred.

Cow>»
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Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 272
-- Exhibit
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____________ 172 27.0.0/24

-- Exhibit --

Click the Exhibit button.

Referring to the exhibit, your network contains eight devices participating in OSPF Area 0, and they are all in a full IBGP mesh. R7 is learning the 172.27.0.0/24

network and is injecting this route into OSPF and BGP. You must ensure that on R2, all traffic destined to the 172.27.0.0/24 network from R1 uses the R2-to-R7
RSVP LSP through your core network.

How should you accomplish this behavior?

A. Use the install active feature on R2.
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B. Use the install feature on R2.
C. Use OSPF and BGP import policies on R2.
D. Use OSPF and BGP export policies on R2.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 273
- Exhibit
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R1 E R
W
\ RS

R6

-- Exhibit --
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Click the Exhibit button.

Referring to the exhibit, which two configuration steps must be implemented so that LSPs will be able to use link protection from R1 to R3? (Choose two.)

A. Configure each eligible interface for link protection.

B. Configure each eligible router's protocol RSVP for fast reroute.
C. Configure each eligible router's protocol MPLS for link protection.
D. Configure each eligible LSP for link protection.

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 274
-- Exhibit
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o BPE < Site3™
o R1 Area R3 ™. [ ASB65111

AS 65510 ‘ﬁ,ﬂ s

— o —p P

-- Exhibit --
Click the Exhibit button.

Referring to the exhibit, You have a Layer 3 VPN connecting Site 1, Site 2, and Site 3. Site 1 and Site 3 have a backdoor IBGP connection. You must meet these
requirements:

1. Ensure that PE2 does not advertise the routes learned from PE1 to CE3.
2. Ensure that PE1 does not advertise the routes learned from PE2 that originated from CES3.
3. All routes must be present in Site 2.

Which two statements meet these requirements? (Choose two.)

Use a unique origin community on each PE and tag the appropriate BGP routes when importing them from the local CE devices.

Use a unique origin community on each PE and tag the appropriate BGP routes when exporting them to the connected CE devices.

Use an export policy that matches routes with the remote origin community and blocks these routes from being advertised to the connected CE devices.
Use a VRF import policy that matches the routes with the remote origin community and blocks these routes from being accepted.

Cow>»
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Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 275
-- Exhibit

- '
CE1/ . OSPF /

il "
1 ]
]

-- Exhibit --
Click the Exhibit button.

Referring to the exhibit, you have recently configured a Layer 3 VPN between Site 1, Site 2, and Site 3. The CE2 device has all routes from Site 1 and Site 3. The
CE3 device has all the routes from Site 1 and Site 3. CEL1 is not receiving any routes from either Site 2 or Site 3.

Which statement is correct?

A. PE2 must redistribute the routes into OSPF using a VRF export policy.
B. You must configure a sham link between all three sites.
C. OSPF is not a supported PE to CE routing protocol.
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D. You must create an export policy on PE1 to redistribute the VPN routes into OSPF.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 276
- Exhibit
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Customer Site 1

Eqerial Service Customer 5ite 2 External
ﬁguti. Provider % Routes
$_H E pE 3 $ % %
PE-1 P
LSP —t LSP
LSP
-- Exhibit --

Click the Exhibit button.

Referring to the exhibit, what are three operations performed by the service provider's PE routers? (Choose three.)

Modify the VRF label assigned using MP-BGP.

Maintain the customer's /32 loopback internal routes.

Use MP-EBGP to send Customer Site 2's internal routes to CE-1.
Maintain the customer's external routes.

Maintain routes internal to the provider's network.

moow?>

Correct Answer: BCE
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 277
-- Exhibit
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Provider CDFE.

“re1

CE-C —
uzerEPEl>» show vpls connections

Instance: vpn-—-a
Local site: ce-a (1)
comnmection—-site IType St Time last up # Up trans
2 rmt Op Oct 18 11:13:48 2010 1
Bemote PE: 1852.168.2.2, Negotiated comtrol-word: Ho
Incoming label: 800069, Outgoing label: 200000
Local interface: wt-1/0/10.1049600, Status: Up, Encapsulation: VFLS
Degcription: Intf — vpls vpn-a local site 1 remote 3ite 2
Local =zite: ce-c (3)
comnection-site IType St Time last up # Up trans
2 rmt LM

-- Exhibit --

Click the Exhibit button.
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Referring to the VPLS network shown in the exhibit, you notice that only one of the two CE sites configured under the VPLS instance forms a connection to the
remote site. The other site remains in a forwarding and learning mode.

How does PE1 determine which CE within the VPLS instance forms the connection to the remote site?

The site that first distributes the outgoing label to the remote site will form the connection.
The site with a lower interface index value will form the connection.

The site with a higher interface index value will form the connection.

The site with the lowest site ID will form the connection.

Sow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 278
-- Exhibit
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% fe-0f2/Z.42 4% 0-0/T/T.0 %
CE1l PE1 PEZ CE2

192.168.1.1 192.168.1.2

-- Exhibit --
Click the Exhibit button.

Referring to the exhibit, you see the proper BGP, MPLS, and routing instance configuration for PE1 and PE2.
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Which configuration on PE1 will allow CE1 to communicate with CE2 over a Layer 2 VPN, assuming PE2 has PPP TCC encapsulation on so-0/0/0.0?

A. [edit interfaces fe-0/2/2 unit 42]
family tcc {
proxy {
inet-address 192.168.1.2;
}
remote {
inet-address 192.168.1.1;
}
}
B. [edit interfaces fe-0/2/2 unit 42]
family tcc {
remote {
inet-address 192.168.1.2;
}
}
C. [editinterfaces fe-0/2/2 unit 42]
family tcc {
proxy {
inet-address 192.168.1.1;
}
}
D. [edit interfaces fe-0/2/2 unit 42]
family tcc {
proxy {
Real 229
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inet-address 192.168.1.1;
}
remote {
inet-address 192.168.1.2;
}
}

Correct Answer: A
Section: (none)

Explanation

Explanation/Reference:
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